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The table below presents the percentage profit earned by two companies A and B during the
period 2013 to 2018. Based on the data given in the table, answer five questions that follow
Yearwise percentage (%) profit

Year % Profit Earned
A B
2013 20 % 35 %
2014 32 % 30 %
2015 40 % 50 %
2016 25 % 40 %
2017 30 % 30 %
2018 15 % 40 %
[Wthiero ik B = {Income—EX;.:-enditure} +100]
Expenditure
Sub questions

Question Number : 1 Question Id : 6154758594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the expenditure of company B in the vear 2013 was ¥ 17 lakhs, then what was 1ts income
in that year?

(1) T 22.95 lakhs (2) ¥ 23.15 lakhs
(3) T 24,50 lakhs (4) ¥ 25.65 lakhs
Options:

E1547533501. 1
E1547533502. 2
51547533503, 3
51547533504, 4

Question Number : 2 Question Id : 6154758595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If the income of company A in the year 2017 1s ¥ 26 lakhs. then what 1s the expenditure of

company A 1n that vear?

(1) T 33.8 lakhs (2) ¥ 22.5lakhs
(3) T 21.6 lakhs (4) % 20.0 lakhs
Options:

61547523505, 1
E1547533506. 2
E1547533507. 3
51547533508, 4

Question Number : 3 Question Id : 6154758596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



If the sum of expenditure of company B 1n the vears 2014 and 2017 together 1s ¥ 48 lakhs.

then what 1s the total income of company B in these two vears together?

(1) % 62.4 lakhs (2) ¥ 36.2 lakhs
(3) ¥ 64.0 lakhs (4) ¥ 65.5 lakhs
Options:

E1547533508. 1
E1547533510. 2
51547533511, 3
61547533512 4

Question Number : 4 Question Id : 6154758597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which vear 1s the ratio of income to expenditure of company A the maximum?
(1) 2013 (2) 2017
(3) 2015 (4) 2018

Options:

61547533513,
61547533514,
61547533515,
61547533516,

o LIPS

Question Number : 5 Question Id : 6154758598 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the expenditure of company A in the yvear 2013 and company B in the yvear 2018 are the

same, and the income of company B 1n the vear 2018 1s ¥ 77 lakhs. then what 1s the income
of company A 1n the year 20137

(1) T 55 lakhs (2) ¥ 66 lakhs
(3) ¥ 06 lakhs (4) ¥ 64 lakhs
Options:

E1547533517. 1
61547533518, 2
61547533519, 3
61547533520, 4

Question Id : 6154758593 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)
Juestion Label - Comprehension



fefefiga arfer @ 99 2013 ® 2018 7% 1 a9 % 20 A 31 B 21 9l gr1 #Atsa wiaee @

TaH 7 | Aifeil | T2 T 3RSt # SUT T 3 I U1 6 I 8w,

IR UiFeE (%) =79

=

: HAMAG % =Y
g
A B
2013 20 % 35 %
2014 32 % 30 %
2015 40 % 50 %
2016 25 % 40 %
2017 30 % 30 %
2018 15 % 40 %
i (37 — ==99)
(=1, =9 % = T * 100
Sub questions

Question Number : 1 Question Id : 6154758594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I3 =9 2013 H o1 B 1 =g %, 17 @@ 91, 91 39 99 SR AT TRl o 7

(1) % 22.95%4 (2) = 23.15 9@
(3) ¥. 24.50 =i (4) %. 25.65 @g
Options:

61547533501, 1
61547533502, 2
E1547533503. 3
E1547533504. 4

Question Number : 2 Question Id : 6154758595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Iz a9 2017 Fot A F1 9T 5. 26 @G 2, O 39 99 T A FT =G A 27

(1) %. 33.8 ™ (2) % 22574
(3) % 21.6 4 (4) =% 20.0=m3
Options:

£1547533505. 1
61547533508, 2
E1547533507. 3
51547533508, 4

Question Number : 3 Question Id : 6154758596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
a2 ¥ 2014 37 2017 § FoH B F =99 F1 T UA F. 48 @@ 7, 7 A 241 a9 4 F B F FA a9
TRl 27

(1) %. 62.4 @ig (2) =% 36.2< M3
(3) %. 64.0 = ir@ (4) =% 6b.0@@
Options:

61547523509, 1
E1547533510. 2
51547533511, 3
61547533512, 4

Question Number : 4 Question Id : 6154758597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
o =9 # Fo1 A i 3™ 3R =E T AT TEnaE A

(1) 2013 2y 2017
(3) 2015 (4) 2018
Options:

615475335131
61547533514, 2
61547533515 3
E1547533516. 4

Question Number : 5 Question Id : 6154758598 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T2 99 2013 H o A F1 =59 3E =99 2018 § HUH B F1 =7 §9E 7, WX A9 2018 § w9l B Fi A=
%, 77 @@ E, 91 99 2013 § F9E1 A Fi 377 A B 7

(1) %, bb wig (2) =. 66<@
(3) %. 06 =™ (4) % 644
Options:

61547523517, 1
61547523518, 2
E1547533519. 3
E1547533520. 4

Sub-Section Number: 2
Sub-Section Id: 615475377
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 6154758599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Consider the example of anumana given below :

(a) The mountain 1s fiery
(b) Because 1t has smoke
(c) Wherever there 1= smoke, there 1s fire.

Which one of the following expresses Vyaptl (relation of invariable concomitance?

(1) The relation of invariable concomitance between mountain and fire

(2) The relation of invarmahle concomitance between mountain and smoke

(3) The relation of invariable concomitance between fire and smoke

(4) The relation of invariable concomitance between perceiver and the smoke
Options:

E1547533521. 1
61547533522 2
61547533523, 3
61547533524, 4

Question Number : 6 Question Id : 6154758599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475335211

E1547523522. 2

E1547Y533523. 3

61547533524 4

Question Number : 7 Question Id : 6154758600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



If income of X 1s 20% more than that of Y and income of Y 1s 25% less than that of Z. then the
total income of X. Y and Z are 1n which of the following ratios?

(1) 18:15: 20 2y 18:15H:10
(3) 18:10: 15 (4 18:12:15
Options:

615475335251
E1547533526. 2
E1547533527. 3
61547533528, 4

Question Number : 7 Question Id : 6154758600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Itz X 1 5= Y 1 2 | 20% w9E 2 #AR Y #r o Z i 5a J 25% # B, a1 X, Y 3R Z A g
AT = a9 1 99 59eE 27

(1) 18:15:20 2) 18:15:10
(3) 18:10:15 (4) 18:12:15
Options:

E1547533525. 1
61547533526, 2
B1547533527. 3
61547533528, 4

Question Number : 8 Question Id : 6154758601 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a class, there are 60% female students and the remaining are male. 40% of the female
students and 70% of the male students have opted for the research methodology course. If in
all. 60 students have not opted for the research methdology course. which of the following 1s
the total number of students in the class?

(1) 120 (2) 125
(3) 130 (4) 140
Options:

£1547533529. 1
E1547533530. 2
E1547533531. 3
B1547533532. 4

Question Number : 8 Question Id : 6154758601 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 120 (2} 125

(3) 130 (4) 140

Options:

E1547533529. 1
E1547533530. 2
51547533521, 3
61547533532, 4

Question Number : 9 Question Id : 6154758602 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Three taps A, B and C can fill a tank 1n 8. 10 and 12 hours respectively. The tap A 1s open all

the time continuously. But taps B and C are open for one hour each alternately. How long
will it take the tank to be full?

(1) 4 hours (2) 4E hours
27
2 1
(3) 4§ hours (4) 45 hours

Options:

61547533533, 1
61547533524 2
61547533535 2
61547533536 4

Question Number : 9 Question Id : 6154758602 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

£1547533533. 1
E1547533534 2
61547533535,
61547533536 4

Question Number : 10 Question Id : 6154758603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Montreal protocol was signed in order to address which of the following environmental

1ssues?
(1) Tropospheric ozone pollution (2) Depletion of ozone 1n the stratosphere
(3) Global warming (4) Acid rain

Options:

E1547533537. 1
B1547533538. 2
61547533535, 3
61547533540, 4

Question Number : 10 Question Id : 6154758603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547533537. 1
E1547533538. 2
E1547533539. 3
51547533540, 4

Question Number : 11 Question Id : 6154758604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following factors is a deterrent for the students to do well in higher

education?

(1) Political orientation (Z) Academic strategies
(3) Comprehension ability (4) Academic discourse
Options:

E1547533541. 1
E1547533542. 2
51547533543, 3
51547533544, 4

Question Number : 11 Question Id : 6154758604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547533541, 1
61547533542 2
£1547533543 2
61547522544, 4

Question Number : 12 Question Id : 6154758605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Schistosomiasis, a common water contact disease, 1s spread by which of the following?

(1) Giardia (2) E.Coli
(3) Cercaria (4) Amoeba
Options:

515475335451
61547533546, 2
61547533547, 3
615475235458, 4

Question Number : 12 Question Id : 6154758605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  frnfsan (2) 3. Fems
(3) T (4) a7fiEn
Options:

E1547533545. 1
61547533546, 2
61547533547, 3
61547533548, 4

Question Number : 13 Question Id : 6154758606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the technical term used to describe body language from the following

(1) Proxemics (2) Chronemics
(3) Kinesics (4) Haptics
Options:

E1547533548. 1



E1547533550. 2
51547533551, 3
61547533552, 4

Question Number : 13 Question Id : 6154758606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

5154753354591
61547533550, 2
£1547533551. 3
E1547533552. 4

Question Number : 14 Question Id : 6154758607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the correct sequence of one way process of communication. from the following
sequences

(1) Sender, Decoding, Message, Channel, Encoding. Recelver
(2) Sender, Encoding. Message. Channel. Decoding. Recelver
(3) Receiver. Encoding. Message. Channel. Decoding. Sender
(4) Sender, Message, Decoding, Encoding, Channel. Receiver

Options:

615475335531
£1547533554 2
61547523555, 5
61547533556 4

Question Number : 14 Question Id : 6154758607 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475335531
61547533554 2
61547523550 =
61547523556, 4



Question Number : 15 Question Id : 6154758608 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the form of education having high potential for providing optimism, self-esteem and

commitment to personal fulfillment, ethical judgement and social responsibility from the
following :

(1) Formal education (2) Technical education
(3) Moral education (4) Value education
Options:

51547533557, 1
61547533558, 2
61547533559, 3
61547533560, 4

Question Number : 15 Question Id : 6154758608 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547533557, 1
61547533558, 2
E1547533559. 3
E1547533560. 4

Question Number : 16 Question Id : 6154758609 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

“Fire 1s cold, because 1t 1= a substance” — 1s an instance of which one of the hetuabhasas

(fallacy of inference)

(1) A siddha (unproved middle term)

(2) Badhita (non-inferential contradicted middle)
(3) Virudha (contradictory middle)

(4) Sarvabhicara (irregular middle)

Options:

15475335611
E15475335E62. 2
61547533562 5
61547533564, 4



Question Number : 16 Question Id : 6154758609 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e ﬁ -.-.-_I.III—_”"‘ [xa % ;FEH-T—_F‘: _,‘J qE Tj.q; m?j ;:F'.;” — 'hﬂﬁﬁﬂﬁ ]-:[ ﬁ e %l‘c“’l-“H l'i-"il-r-h':; E'l-q';l =1 F{E-I"_‘{ %:-;,
(1) Afog (g 749 =) © (s s )
(3) famg (==mardi mex) W e ()

Options:

E1547533561. 1
B1547533562. 2
61547533563, 3
61547533564, 4

Question Number : 17 Question Id : 6154758610 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following statements 1s correct with reference to a deductive argument?

(1)
(2)
(3)

(4)

Options:

The relation between premises and conclusion 1s one of matter of fact
The relation between premises and conclusion 1s one of logical necessity
The relation between premises and conclusion 1s that of empirical necessity

the relation between premises and conclusion 15 a matter of ascertainment

probability

E1547533565. 1
61547533566, 2
61547533567, 3
E1547533568. 4

of

Question Number : 17 Question Id : 6154758610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547533566. 2
61547533567, 3
51547533568, 4

Question Number : 18 Question Id : 6154758611 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If two propositions are related in such a way that they cannot both be true together.

although both may be false together. then such a relation 1s considered to be

(1) Contrary (2) Contradictory
(3) Subaltern (4) Sub-contrary
Options:

BE1547533569. 1
61547533570, 2
61547533571, 3
61547533572 4

Question Number : 18 Question Id : 6154758611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

£1547533569. 1
61547533570, 2
61547533571,
61547533572 4

Question Number : 19 Question Id : 6154758612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following 1s true with respect to the first figure of categorical syllogism?

(1) The middle term 1s the subject of the major premise and the predicate of the minor
premise

(2) The middle term 1s the predicate of the major premise and subject of the minor
premise

(3) The middle term 1s the subject of the major premise and the predicate of the

conclusion

(4) The middle term 1s the subject of the minor premise and the predicate of the

conclusion

Options:
15475355721

E1547533574. 2
B1547533575. 3
B1547533576. 4

Question Number : 19 Question Id : 6154758612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
15475355721
C1547533574 2
61547533575 2
61547533576 4

Question Number : 20 Question Id : 6154758613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In a developing country like India which among the following statements 1s indicative of

challenges 1n the context of computer based testing?
(1) Many teachers do not have knowledge of computer

(2) Computer will destroy guru-shishya relationship

(3) Indian government can't afford to buy a large number of computers
(4) In remote locations availability of computer and electricity 1s not feasible
Options:

BE1547533577. 1
61547533578, 2
61547533575, 3
61547533580, 4

Question Number : 20 Question Id : 6154758613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475335771
61547533578 2
61547533579, 5
61547533580 4

Question Number : 21 Question Id : 6154758614 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following 1s least important for the academic success of students?

(1) Cognitive competence (2) Emotional competence
(3) Legzal competence (4) Social competence
Options:

E1547523581. 1



E1547533582. 2
61547533583, 3
61547533584, 4

Question Number : 21 Question Id : 6154758614 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  FAETHF HEFwa (2) EATTHF TEEA
(3) Tt Teaaan (4) HEITTF FEHAT
Options:

E1547533581. 1
61547533582, 2
61547533583, 3
E1547533584. 4

Question Number : 22 Question Id : 6154758615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to one paradigm of research. following sequence 1s followed by the researchers :

Theory — Generation of hypotheses — Data collection — Data analysis and results —
Hypotheses confirmed or rejected — Rewvision of theory

This way of conceptualizing rezearch 1s based on which of the following :

(1) Inductive approach (2) Deductive approach
(3) Qualitative approach (4) Interpretative approach
Options:

51547533585, 1
61547533586, 2
61547533587, 3
61547533588, 4

Question Number : 22 Question Id : 6154758615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547533585, 1
61547533586 2
E15475323587. 2
615475323588, 4

Question Number : 23 Question Id : 6154758616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements fails to indicate the intent of purposive samphng?

(1) Purposive sampling 1s not the fundamental principle for selecting cases and
individuals 1n quahtative research

(2) Purposive sampling places the Investigator's research guestions at the forefront of
sampling considerations

(3) Theoretical saturation 1s a useful principle for making decision about sample size

(4) There 1= considerable disagreement about what 1s an acceptable mimimum sample
size 1n qualitative research

Options:

61547533589, 1
61547533590 2
615475223591, 5
615475323592 4

Question Number : 23 Question Id : 6154758616 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£1547533589. 1
£1547533590. 2
£1547533591. 3
£1547533592. 4

Question Number : 24 Question Id : 6154758617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the skills promoted by communication from the following :

(a) Reading and Listening
(b) Listeming and helping
(c) Helping and speaking

(d) Speaking and writing

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (d) only

(4) (c) and (d) only

Options:

61547533593, 1
£1547533594 2
£15475323595 =2
615475323596, 4

Question Number : 24 Question Id : 6154758617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

freATertiad § | 5990 200 HAiEd B4 21 S 1 9E"E i

(a) = 9491 Ham
(b) AT AT Hardan
()  TEEAT 99T JHTI

(d)  THE q wEA

e 1 991

(1)  ¥ad (a) 317 (b) (2) Fa (b) H7 (c)
(3)  FAA (a) 3T (d) 4) Fa= (c) 3 (d)
Options:

5154753355831



E1547533594. 2
61547533585 3
515475335596, 4

Question Number : 25 Question Id : 6154758618 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the oriental learning institutes in India from the following :

(a) Asiatic Society
(b) Madras Sansknt College
(c) Tezpur Umiversity

(d) Mythic Society

Choose the correct option :

(1) (a). (b) and (d) only
(2) (a). (b) and (c) only
(3) (a). (¢) and (d) only

(4) (b). (c) and (d) only

Options:

£1547533597. 1
E15475323598 2
61547532599,
61547533600 4

Question Number : 25 Question Id : 6154758618 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547533597. 1
615475335398, 2
E1547533599. 3
51547533600, 4

Question Number : 26 Question Id : 6154758619 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

With regard to “Digilocker”. which of the following statements are correct?

(a) It 1s a digital locker system offered by the Government under Digital India

Programme
(h) It provides financial and technical assistance to young start-up entrepreneurs
(c) It allows users to access their e-documents 1rrespective of physical location

Choose the correct option :

(1) (a) and (b) only
(2) (a) and (c) only
(3) (b) and (¢) only

(4) (a). (b) and (c)

Options:
15475326801, 1



E1547533602. 2
51547533603, 3
51547533604, 4

Question Number : 26 Question Id : 6154758619 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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61547523601, 1
E1547533602. 2
E1547533603. 3
51547533604, 4
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Correct Marks: 2 WrongMarks: 0



Which of the following statements are correct?

(a) (Google’s web browser 1s called ‘Chrome’
(b) Apple’s web browser 1s called ‘Safart’

(c) “Mozilla firefox” 1s an open source web browsing software

Choose the correct option :

(1) (a) and (b) only
(2) (a) and (c) only
(3) (b) and (c) only

(4) (a). (b) and (c)

Options:

61547533605, 1
61547532606 2
1547533607, 2
61547532608, 4

Question Number : 27 Question Id : 6154758620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547523605, 1
E1547533606. 2
E1547533607. 3



E1547533608. 4

Question Number : 28 Question Id : 6154758621 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements 1s/are correct?

(a) It 1s usually faster to access data stored in RAM than that in hard drive

(b) The hexadecimal number 99 1s the same as the decimal number 99

Choose the correct option :

(1) (a) only
(2) (b) only
(3) Both (a) and (b)

(4) Neither (a) nor (b)

Options:

61547533609, 1
61547533610 2
61547533611, 2
61547533612 4

Question Number : 28 Question Id : 6154758621 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E154753360%8. 1
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E1547533611. 3
B154753361%2. 4

Question Number : 29 Question Id : 6154758622 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Consider the following statements :

(a) The Millennium Development Goals were to be achieved by 2015

{(b) The Sustainable Development Goals will guide United Nations Development

Programme Poliey until 2035

(c) The Sustainable Development Goals came into effect in January 2016

Which of the above statements are correct?

(1) (a) and (b) only
(2) (b) and (c) only
(3) {a) and (c) only

{4y {a), (b) and (c)

Options:

61547533613, 1
61547532614 2
E1547523815 2
61547532616, 4

Question Number : 29 Question Id : 6154758622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547533613. 1
61547533614, 2
61547533615 3
E1547533616. 4

Question Number : 30 Question Id : 6154758623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Consider the following statements regarding noise pollution :

(a) Noise levels decrease as we move away from the source of noise
(b) Materials with high surface/mass density act as good noise barriers
(c) Sound pressure of 2 i Pa corresponds to a noise of zero decibel

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a). (b) and (c)
Options:

61547533617, 1
615475332618 2
61547523619, 3
61547523620, 4

Question Number : 30 Question Id : 6154758623 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547533617, 1
615475336158, 2
61547523619, 3
E1547533620. 4

Question Number : 31 Question Id : 6154758624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below 1z a question followed by three statements.

Identify the statements, which 1s/are necessary to answer the question.

“What 1s the speed of the train’?

(a) The train crosses another train running in opposite direction in 20 seconds
(h) The train crosses a platform of length 300 m 1n 30 seconds
(c) The train crosses a pole 1n 10 seconds

Choose the most appropriate option :

(1) (a) and (b) only
(2) (a) and (c) only
(3) (b) and (c) only

(4) (a). (b) and (c)

Options:
£1547533621. 1



E1547533622. 2
B1547533623. 3
61547533624, 4

Question Number : 31 Question Id : 6154758624 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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51547533621, 1
E1547533622. 2
61547533623, 3
E1547533624. 4
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Correct Marks: 2 Wrong Marks: 0



Consider the following statements :

(a) Earth would be safer without greenhouse effect
(b) Major contribution to the greenhouse effect comes from carbon dioxade

(c) Earth's chimate was changing even before man appeared on earth

Which of the above statements are correct?

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a). (b) and (c)

Options:

61547533625, 1
61547533626 2
61547533627, 2
61547532628 4

Question Number : 32 Question Id : 6154758625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 33 Question Id : 6154758626 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In educational institutions, students usually have group journals/magazines and write 1n

them on regular basis. Which of the following statements are correct about journaling as a
method of informal assessment.

(a) As a tool that provides opportunity to the students to express their thoughts and i1deas
(b) As an opportunity to showease what they have learned

(c) As a way to cope with the stress

(d) As a tool to settle scores with the authority

Choose the correct option :

(1) (a) and (c) only
(2) (b) and (c) only
(3) (a) and (b) only

(4) (c) and (d) only
Options:
615475336290, 1
61547532630 2
61547533631, 2
61547533632 4

Question Number : 33 Question Id : 6154758626 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547533629. 1
61547533630, 2
E1547533631. 3
BE1547533632. 4

Question Number : 34 Question Id : 6154758627 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Spotting gaps 1n the research literature 1s the chief way of 1dentifying research questions. In

this context, ‘spotting gaps’ in the research lhiterature refers to :

(a) Identifving under-researched areas
(b) Recogmizing the gap between two researchers’ background
(c) Identifying inconsistent findings in an area of research

(d) Recognizing gap in the characteristics of sample and population

Select correct option :

(1) (a) and (c) only
(2) (b) and (d) only
(3) (a) and (b) only

(4) (c) and (d) only



Options:

61547533633, 1
61547532634 2
E15475323835 2
61547532636, 4

Question Number : 34 Question Id : 6154758627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547533633. 1
E1547533634. 2
E1547533635. 3
E1547533636. 4
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Match the List-I containing name of the Commissions with IList-II containing the
recommendation of that commission

List I List IT
(Commissions) (Recommendation)

(a) Radhakrishnan Commission (1) Introduction of 3 yvears of secondary
and 4 years of higher education
system

(b) Mudaliar Commission (11) Restructuring curriculum for multi-
disciphinary professionals

(c) Kothari Commission (i1) Integrating secondary and higher
education

(d) Sam Pitroda Commission (1v) Three vears of degree and 4 vears of

honours degree courses

Choose the correct option from those given below :

(1) (a)-(). (b)-(i1). (¢)-(ii1), (d)-(Gv)
(2) (a)-(11). (b)-(v). (c)-(1). (d)-(111)
(3) (a)-(m1). (b)-(1). (¢)-(iv). (d)-(11)
(4 (a)-@v). (b)-(am). (c)-(2). (d)-(11)
Options:

615475336571

61547532638, 2

BE1547533639. 3
51547533640, 4

Question Number : 35 Question Id : 6154758628 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Match the following environmental disasters with the words or phrases associated with

them.

Last I Last IT
(a) Bhopal gas tragedy (1)  Dumping of Hazardous substances
(b) Chernobyl disaster (11) Peroxvacetyl Nitrates (PAN)
() Love Canal tragedy (1) Nuclear accident
(d) Los Angeles smog (1v) Methyl Isocyamide

Choose the correct option from those given below :

(1) (a)-(11), (b)-(111), (c)-(1v), (d)-(1)
(2) (a)-(wv), (b)-(11), (¢)-(1), (d)-(11)
(3)  (a)-(i), B)-(). (©-(v), (d)-(ii)
(4) (a)-(v). (b)-(1). (¢)-(i11). (d)-(11)

Options:

61547533641, 1
61547533642 2
61547533643 o
61547533644 4

Question Number : 36 Question Id : 6154758629 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(2) (a)-(wv), (b)-(1), (¢)-(2). (d)-(11)
(3) (a)-(1). (b)-(1). (e)-(1v). (d)-(111)
4) (a)-(v), (b)-(1), (¢)-(111). (d)-(11)



Options:

61547533641, 1
615475336842 2
E15475323843 2
61547532644, 4

Question Number : 37 Question Id : 6154758630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List-T with Last-II

List I Last IT
(Digital Imtiatives) (Purpose)
(a) SWAYAM (1) Integrated Library Management
software
(b) Spoken Tutoral (1) Robotics competition
(c) e-Granthalaya (1) Promotes IT lhteracy through open

source software

(d) e-Yantra (itv) Personalized and adaptive learning

Choose the correct option :

(1) (a)-(1), (b)-(v). (¢)-(11), (d)-(11)
(2) (a)-(1). (b)-(1). (¢)-(111), (d)-(1v)
(3) (a)-(1). (b)-(11). (¢)-(iv), (d)-(1)
(4) (a)-(1v). (b)-(11). (c)-(1). (d)-(11)

Options:

61547533645, 1

£1547533646. 2

61547533647, 3

1547530648, 4

Question Number : 37 Question Id : 6154758630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(4) (a)-(v). (b)-(111). ()-(2). (d)-(1)

Options:

61547533645 1

61547533646, 2

E1547533647. 3
E1547523648. 4
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Match the items given under Column II providing description with the items under Column I

indicating the basis.

(a)
(b)
(c)
(d)

Column I
(Basis)
Cognitive
Emotional
Social
Verbal

Choose the correct option :

(1)
(2)
(3)
(4)

Options:

(a)-(). (b)-(iid). (¢)-(iv). (d)-(ii)
(a)-(1v), (b)-(ii1), (c)-(1). (d)-(i1)
(a)-(v), (b)-(111). (2)-(11), (d)-(1)
(2)-(1v), (b)-(1). (e)-(11), (d)-(1i1)

51547533649, 1
61547533650, 2
E1547533651. 3
61547533652, 4

(1)
(11)
(1i1)

(1v)

Column IT
(Description)
Ability to relate to other
Ability to articulate the 1dea
Ability to read others' facial expression
Ability to solve abstract problem

Question Number : 38 Question Id : 6154758631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



H= T2 7 =wiem 11 =1 faamor #iem [ sar & arg gafea Hif

=iy - I *HreH - 11
(FTET) (o=
(a) FETEF Q) ¥ % =19 GEG SIS i T
(b)  HIEATHF (i) =Rl w gEwE e A
(¢) THITTF (ii) T F == F FE-9TF F TS F TEIAT
(d) ifE® (iv) A T9EN 1 S PR = A

TE T ==

(1) (@)-@). (b)-(). (c)-(av). (d)-(11)
(2) (a)-(1v). (b)-(111). (c)-(1). (d)-(11)
(3) (a)-v). (b)-(111). (g)-(11). (d)-(2)
(4) (a)-(v), (b)-(1), (e)-(11). (d)-(111)

Options:

61547533649, 1

61547533650 2

61547533651, 3
61547533652, 4

Question Number : 39 Question Id : 6154758632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following national co-ordinators of SWAYAM (List I) with thewr distinguishing
programmes (List IT)

ListI Last IT
(a) NPTEL (1)  School education
(b)y CEC (1) Engineering programme
(c) NCERT and NIOS (m) Teacher training programme
(d) NITTR (1v) Under-graduate education

Choose the correct option from those given below :

(1) (a)-(m1). (b)-(11). (c)-(av), (d)-(1)
(2) (a)-(1). (b)-(iv). (c)-(1). (d)-(111)
(3)  (a)-(). (b)-(iii). (c)-(i). (d)-(iv)
(4 (a)-(v), (b)-(1). (e)-(111). (d)-(11)

Options:

61547533653 1
61547532654, 2
61547533655 2
61547533656, 4

Question Number : 39 Question Id : 6154758632 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T % et T FaEw (e 1) 1 e S (g 1) | gt i

T - 1 = - 10
(@ TwAHAZ A G T
(b) T EH (i) AT FEE
(€) T HIE WE F s T AE A (iii) fore TfeE SR
(d) T F A R (iv) TH T e

fAefeafiga 0 9 o7 faweg =1 999 =1

(1) (a)-(111). (b)-(1). (¢)-(v). (d)-()
(2) (a)-(1). (b)-(iv). (¢)-(1), (d)-(111)
(3) (a)-(1). (b)-(111). (c)-(11). (d)-(1v)
(4) (a)-(v). (b)-(1), (¢)-(111). (d)-(11)



Options:

61547533653, 1
1547532854 2
E1547523855 =2
61547532656, 4

Question Number : 40 Question Id : 6154758633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that contains only computer input devices

(1) Kevboard. Mouse. Joystick, Printer
(2) Mouse, Monitor, Joystick, Keyboard
(3) Joystick. Keyboard. Digitiser, Monitor
(4) Joystick, Kevboard. Mouse, Digitiser

Options:

61547533657, 1
61547533658, 2
1547532659 2
15475323660 4

Question Number : 40 Question Id : 6154758633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fffas 7 5 39 fa%eg =1 =97 =+ {50 Faa o= gfaaat (3792 fsasgs) mie &

e

(1) HEE, oEy, aEes, e
(2) 139, HiHEL, TEaE=F, 0
(3) wEmEes, fmre, fefem, gt

(4)  amEfees, HEre, e, fshwnsn

Options:

61547533657, 1
61547532658, 2
61547533659 2
61547533660 4

Question Number : 41 Question Id : 6154758634 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the two following 1s the correct sequence of greenhouse gases according to their

relative global warming potential in increasing order?

(1) Nitrous oxide, Methane. Carbon dioxade. Chlorofluorocarbons

(2) Carbon dioxide, Methane, Nitrous oxide, Chlorofluorocarbons

(3) Methane. Nitrous oxide. Carbon dioxide, Chlorofluorocarbons

(4) Carbon dioxide. Nitrous oxide, Methane, Chlorofluorocarbons
Options:

BE1547533661. 1
B15475336862. 2
61547533663, 3
61547523664, 4

Question Number : 41 Question Id : 6154758634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

frafeiiga & & To7Ee AE il TS F SEER FRaTE (FF weE) | @wtad @ # gigae 39 |

(1)  =zE s, WeF, FEsEaIieaEs, T e

(2) FrEASEATFES, T9E, E2A ATFETS, FARF A

(3) YR, AT ATHETS, FEASEAAAEES, FARTTRFEA

(4)  FEASEATFAES, A52E SATFETS, WA, FAREEA
Options:
15475326611
E15475326862. 2
R e e S S
61547533664 4

Question Number : 42 Question Id : 6154758635 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements - one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : A researcher can draw a definitive conclusion even if there 1s a lhittle
evidence to support it.

Reasons (R) : Statistical test of significances helps a researcher in drawing logically

correct inferences from the data.

In the light of the above statements choose the correct option :

(1)
(2)
(3)

(4)

Options:

Both (A) and (R) are correct. and (R) 1= the correct explanation of (A)
Both (A) and (R) are correct. and (R) 18 not correct explanation of (A)
(A) 18 true. but (R) 1= false

(A) 1s false. but (R) 1s true

E1547533665. 1
61547533666, 2
E15475336E7Y. 3
E1547533665. 4

Question Number : 42 Question Id : 6154758635 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fra 21w fau mu | gmen e (A) 31t gE a6 F9T (R) B
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T 2|

ST FYE I S ° Tad 50 FEfEd § 85 w6 97 T FE

(1) (A) 3 (R) 21 =7 = #i7 (R) (A) i T = & |
(2)  (A) AT (R) I TFE 7 AT (R) (A) F1 W21 =9meT 765 ¢ |
(3) (AT ®)ToE R

(4 (A)7Tem 2 g (R) 74 2 |
Options:
61547533665,
61547533666,
61547533667,
E1547E3366E,

[ N

Question Number : 43 Question Id : 6154758636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements - one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  No social activity 1s possible without communication.

Reasons (R) : Communiecation plays vital role in our daily life.

In the light of the above statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 18 true. but (R) 1s false

(4) (A) 1= false. but (R) 1= true

Options:



E154753366%9. 1
B1547533670. 2
61547533671, 3
E1547533672. 4

Question Number : 43 Question Id : 6154758636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= 71 e fom w2 ween stfaeeE (A) 3R ZE0 9 FeA (R)F EUH F

ATF (A) : TS U7 % IS AEITSE Ty 29T w5 A |
% F (R) : TN FAW 2 SE § AEeage g e 2

I 21 FUAT F SAH § TEd 5 Tal AT = =991 =W

(1)  (A) 3 R) 6 @@ 2 3T (R) (A) Fi 7@ =0T 2
(@)  (A) R R) =T TE E g ®R) A) FTE = T A
(3) (A @Az g R) oW 2|

(4) (A) T 7 Thg (R) T=1 2 |
Options:
61547532669 1
61547533670 2
61547533671 2
51547533672, 4

Question Number : 44 Question Id : 6154758637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one 1s labelled as Assertion (A) and the other 1z labelled as

Reason (R) :

Assertion (A):  Motivational aspects of learning and communication efficacy are not inter-
related.

Reasons (R) : Communication as a social product has its own wvariables in a learning
environment.

In the hight of the above statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:

15475356721

1547535674 2

1547532675 2

1547535676 4

Question Number : 44 Question Id : 6154758637 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(4 (A T=d 2, BRg (R)T# 7 |

Options:
61547533673, 1
61547533674 2



E1547533675. 3
B1547533676. 4

Question Number : 45 Question Id : 6154758638 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements - one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  Forests help in improving the air quahity of a place.

Reasons (R) : Some tree species emit volatile organic compounds (VOCs) such as

1soprene which may contribute to formation of tropospheric ozone.

In the light of the above statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:
15475326771
1547533678 2
1547533679 3
61547532680 4

Question Number : 45 Question Id : 6154758638 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  (A) 3w R) 301 =# 3 38 (R) (A) Fi o = 2 |
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4 (A Tz, Fg R) T E
Options:
61547533677 1
615475336758 2

61547533679, 3
E1547533680. 4

Sub-Section Number: 3
Sub-Section Id: 615475378
Question Shuffling Allowed : Yes

Question Id : 6154758639 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension

Read the following passage and answer questions numbered 46 to 50 :

All art 1s a blend of form and content; and 1t 1s through certain excellences characterising
either, that the artist succeeds 1n inducing 1n us the artistic attitude. In the case of poetry.
for example, the content 1s constituted by the figurative ideas. and sentlments 1t expresses :
and the form. by the musical language through which they find expression. Of these, the
form wvaries much from one art to another: and it 1s also technical. We shall not refer to 1t
here at any length. and shall confine our attention mainly to the content. We shall only
observe, 1n passing, that the legitimate function of form 1s to subserve the content; and if it
assumes greater importance, the work in which 1t does so marks a lapse from the best type of
art. The content of art may be defined generally as the meaming which it expresses. The
excellences that may characterize it are many. and they have been classified in various ways.

Sub questions



Question Number : 46 Question Id : 6154758640 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What constitutes the content of poetry according to the passage?

(a) Figurative ideas
(b) Musical language

(c) Sentiments 1t expresses

Choose the correct code from below :

(1) Only (a) and (b) (2)  Only (a) and (c)
(3) Only (b) and (c) (4) Only (b)
Options:

E1547533681. 1
615475336882, 2
51547533683, 3
615475336854, 4

Question Number : 47 Question Id : 6154758641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s correct with respect to the form of poetry as per the passage?

(a) Form doesn't vary from one art to another
(b) Form 1s technical

(c) Form 1s figurative

(d) Form constitutes musical langauge

Choose the correct option from below :

(1) Only (a) and (b)
(2) Only (b) and (d)
(3) Only (b). (c) and (d)
(4) Only (a). (c) and (d)

Options:

1547533685, 1
E15475336886. 2
615475322687, 5
61547532688, 4

Question Number : 48 Question Id : 6154758642 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s legitimate function of form?

(1) To obverse the content (2) To reject the content
(3) To subszerve the content (4) To subsume the content
Options:

E1547523689. 1
61547523630, 2
E15475336391. 3
E15475336392. 4

Question Number : 49 Question Id : 6154758643 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Content of the art 1s defined in the passage as

(1) the form 1t exhibits (2) the language it uses
(3) the meaning it subsumes (4) the meaning it expresses
Options:

515475336593, 1
615475336394, 2
61547533635, 3
E15475336396. 4

Question Number : 50 Question Id : 6154758644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What kind of art 1s the best type as per the passage?

(a) The one which lends greater importance to content
(b) The one which lends greater importance to form
(c) The one 1in which form subserves the content

(d) The one 1n which content subserves the form
Options:

615475236397, 1
E15475336598. 2
B15475336599. 3
61547533700, 4

Question Id : 6154758639 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension
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Sub questions

Question Number : 46 Question Id : 6154758640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
UftemE 7 SHET HEal i G 9w |§ 9o wieied 27

(a)  ATAFIS =R

(b)  Tfa=g

(c) ATq=T7 HI=AE

fafataa 4 @ o8 fawes =1 -

(1) = (a) #HE (b) (2) a9 (a) 7 (c)
(3) A (b) AT (c) (4) = (b)
Options:

E1547533681. 1
E1547533682. 2
E1547533683. 3
61547533684, 4

Question Number : 47 Question Id : 6154758641 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(d)  T=ET Tiiggg arer i T=E AT A

frAfetEs 7 o 78 faweT =1

(1) 99 (a) 57 (b) (2) == (b) H (d)

(3)  =Faa (). (¢) # N (d) (4) FF4 (a), (c) 37 (d)
Options:

61547533685, 1
E1547533686. 2
BE1547533687. 3
51547533688, 4

Question Number : 48 Question Id : 6154758642 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) fam-== fa=a (2) Tamg-=g F1 sHEFA
(3) favE-Tg d #eEE = (4) TavE-Tg = TEMEG = o
Options:

E1547533689. 1
E1547533630. 2
E15475336591. 3
5154753368382, 4

Question Number : 49 Question Id : 6154758643 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FeAl 1 T —a5d & THeas °§ 0 THR gR9Ha & = & 7

(1) =55 g0 U ==Y % a1 W (2) =IF U VEEE 991 F AN W
(3)  =HH TEMEG AY &+ 90 W (4) =E% TAT ATH=TF ATIIE 77 W
Options:

615475336392, 1
E15475336594. 2
E15475336395. 3
51547533636, 4



Question Number : 50 Question Id : 6154758644 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tii=ge F AR 9 THE Fi FeA Ta THTdl F S5 2

(1) o= T5d fama-=mg =+t =91 7eea T = 2

(2) Tz 59 O =%y F =919 9509 T = 2

(3) =% f5m | w==m, fav=-7 + O @2 2 2

(4) == 5@ 4 - =Ey % A gsEs = 2
Options:
61547533697, 1
615475326498 2
615475236399, 3
61547523700, 4

PART IITarrul

Section Id : 615475116

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 615475379
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154758645 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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@)L DA UMD FMi&E @eudsE LD

(1) & IHCIH TS (2)  urfluree
(3) 2 &5 6 TG (4) SHCHTENS
Options:

61547533701, 1
E1547533702 2
E15475237035. 3



E1547533704. 4

Question Number : 51 Question Id : 6154758645 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

'SETSLOLD S IeIBEITT QFHTETeNTT ©)&GHE0TMILILIET eTe0Tamiln LML UG 6T
@)L G UmMILD FHI&% @eu&sE WD

(1) EHNIHOSHTeNH (2)  urflumeey
(3) 3 &5 [ TG ) (4) SHCHTNS
Options:

61547533701, 1
61547533702 2
61547533703, 3
61547523704, 4

Question Number : 52 Question Id : 6154758646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ellmebl Wilett CHFTE LIMS 6U(HetoTemnetTemlLsH Fon MWD LISSIVIUTL (B By

(1) GILI(HLD LIMesoT Mmoo LILIem L (2) QUITEBHITMoULILIenL
(3) S HILLIHS THoLILIEmL (4)  FoyLImeoormH ouLLIemL
Options:

615475237051
61547533706, 2
E1547533707. 3
E1547533708. 4

Question Number : 52 Question Id : 6154758646 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ellmebl Wilett CHFTE UMS cU(HetuTemnetTemlLS Jon MU0 LISSILIUTL (B HTeu

(1) GILI(HLD LIMTesoT T .o L6 L (2) QUITEBHBTMTHoUIILIenL
(3) & (IH(LD (5 & Mmoo LI LIstL (4) @)ooy LImenoT M oL LIemL
Options:

E1547533705. 1
E1547533706. 2
61547533707, 3
61547533708, 4

Question Number : 53 Question Id : 6154758647 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
'LLemeUl] LLeeooTeonTedl 2{1q° 6Tediml  (LpIQuih  &TULUSF GQEFWuwer gL Qumin
2{MIEMe)

(1) Glfl&m&s0n (2) geaurg
(3) & MILIERFELDEULD (4) SLFTISHCHTama
Options:

515475337051
61547533710, 2
61547523711, 3
E1547533712. 4

Question Number : 53 Question Id : 6154758647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
'LLEmEUL] LLeUenoTeonTe0r 21q° eTedrml  (LNIQuih  &STULUSF GIFWWeT gL GQumin
2|6V

(1) Glfls(his0n (2) geurms)
(3) &l ML IEh&FeLneuLD (4) JUFTISHEHTemE
Options:

E1547533705. 1
61547533710, 2
61547533711, 3
61547533712 4

Question Number : 54 Question Id : 6154758648 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

515475337131
61547533714, 2
61547533715 3
E1547533716. 4



Question Number : 54 Question Id : 6154758648 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

DI GBTE MGG GIFWWET culgailé) 2 emT HeooTL6UIT

(1) GUGTETEVITIT

(2) eoeuwimLyiflL LYleimemernm

(3) 2 Geu smOlBTemSWIT

(4) LIT6L 6 6007 60T & B S e [T
Options:

E1547533713. 1
B1547533714. 2
61547533715 3
61547533716, 4

Question Number : 55 Question Id : 6154758649 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
(HeoTLeVCHEF & eTHITMTEs Casmearmliu smUllwih

(1) eUEmET WLIMLIG) (2) FausFHSHTLIe600T
(3) 2 HWemTE&GLWOMT Smedlh (4) HeuCxE
Options:

615475337171
61547533718, 2
E1547533718. 3
B1547533720. 4

Question Number : 55 Question Id : 6154758649 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FHevoTL_eVEHF & eTHITmHES Cxumeormliu &mUllwim

(1)  euememwmuUE) (2) FeusFIHsmineo
(3) 2 SIETEGLOTT STedlLh (4) HeuCsH
Options:

E1547533717. 1
E1547533718. 2
61547533715 3
61547533720, 4

Question Number : 56 Question Id : 6154758650 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘eTLLg’ GTEOT LI & WM @ Hw

GOILUGHE T ?

(1) QB meLEUT
(3) & meurs
Options:

E1547533721. 1
B1547533722. 2
B1547533723. 3
61547533724, 4

Question Number : 56 Question Id : 6154758650 Question Type:
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
"eTLLg’ GTEOT LI6h & WIMmES @I

GO HEerme ?

(1) Gl&BMEVELIT
(3) (Smeur
Options:

615475237211
E1547533722. 2
E1547533723. 3
E1547533724. 4

Question Number : 57 Question Id : 6154758651 Question Type:
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BUEHE] GTa BEh&FOIDET GUERF LDGET

wirenyds @OILE & pmir?
(1) HITLeNSEH
(3) & T LILI60Tem &

Options:

615475337251
E1547533726. 2
E1547533727. 3
E1547533728. 4

Question Number : 57 Question Id : 6154758651 Question Type:
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

[ QUILTTHRE FleuIUE &TILD
(2) ST&FT
(4) eUenOT &

MCQ Option Shuffling: No Display Question Number : Yes

[ CUILTTHRE FleuILE &S TITLD
(2) ST&FT
(4) eUenoll&T

MCQ Option Shuffling: No Display Question Number : Yes

EU‘[B'QSITHT — GU(ehE D& eTedll) SHLOLIT

(2) emsCxmWl

(4) LneorGL TSIl

MCQ Option Shuffling: No Display Question Number : Yes



eUEhSl eTal BERFCILDET UEHT DGET GUBSTET — GUERF LDFHET 6TE SLOLIT

wirenys @Golul Q& omi?

(1) FHTLenSH (2)  enHCHWI
(3) @TLUL6TeNS (4) WeorGLTSIH
Options:

615475337251
61547533726, 2
E1547533727. 3
E1547533728. 4

Question Number : 58 Question Id : 6154758652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el GLnsemeuWwiley eTesor CUIMWLD umplw Grluy @LDE UMD STans

(1) FLOWEH SHouTHET Slo Slmn CHLL &Tand
(2) LOGUITEUGITLD L& & HITemSH

(3) Feomall® &Mang

(4) qlllpmelemm HTemnd

Options:

61547533729, 1
61547533730 2
61547533731, 2
61547532732 4

Question Number : 58 Question Id : 6154758652 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Lnevot] GLosemeuwiley eTesor GUITMWLD UMMl Golliy @ LG UMD &Tens

(1) FLOWSH FHeooTh&HT Slo Elmlh CHLL HTeamd
(2) LOGUITEUENTLD L& HITemSH

(3) Feomall® &Mans

(4) alllomalenm &Teng

Options:
E1547532729. 1

E1547533730. 2
61547533731, 3
61547533732, 4



Question Number : 59 Question Id : 6154758653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

'GUBEIH STUIL — LI WIeUT

(L SHSCUTTWT (2 ulis sallymuwy
(3) 6TEUSULILI [BITEUEVIT (4) SITeoOTL_eUT M
Options:

615475337331
61547533734, 2
E1547533735. 3
E1547533736. 4

Question Number : 59 Question Id : 6154758653 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘OIHEI&H SITLIL — UMgWelF

(L)  SSsEUTTWI]T 2 ulis sallymuwy
(3) 6TeVSULILI [HITEUEVIT (4) SITEOOTL_eUT MU
Options:

615475237321
61547523734, 2
E1547533735. 3
E1547533736. 4

Question Number : 60 Question Id : 6154758654 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HeVDLISSFH60T 2 miliL ]

(1) FHemL mlemev (2) SetoTLIEmL Hlemeu
(3) eueoor (b (4) FIHHLD
Options:

E1547533737. 1
B1547533738. 2
B1547533739. 3
61547533740, 4

Question Number : 60 Question Id : 6154758654 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



FHeVIDLISHFH 60T 2 milIL]

(1) HEIL [Blemey (2) SHevoTLInL [Blemiey
(3) e &ooT (b (4) FIHHLD
Options:

61547533737, 1
61547533738, 2
E1547533739. 3
E1547533740. 4

Question Number : 61 Question Id : 6154758655 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

I5T60T LOGOOT | LOMemey’ 6TH& @a-eumiilwls Ljeveud Wal umL Uil Ll ?

(1) LT (w&snE (2) (SHE0OTMRIEGLY LDENVSITET FMEIL
(3) o InmMILILjeveuTT (4) QEFlGsILLU
Options:

615475237411
61547533742 2
E1547533743. 3
E1547533744. 4

Question Number : 61 Question Id : 6154758655 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

I5T60T LOGOOT | LOMemey’ 6TH& @a-eumiilwls Ljeveud Wal umL Uil Ll ?

(1) LT (w&snE (2) (SHE0OTMRIEGLY LDENVSITET FMEIL
(3) o InmMILILjeveuTT (4) QEFlGsILLU
Options:

E1547533741. 1
E1547533742. 2
E1547533743. 3
B1547533744. 4

Question Number : 62 Question Id : 6154758656 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

OMUMg W FlauesmeT GUIME) eTedimi ByempHSLILIGILIGUT
(1)  eUITLDEDTE (2) FRISTHLEFFaTWIT

(3)  Bleuepmenr @Gﬁﬂﬁufr (4)  QUETETUITI



Options:

61547533745 1
615475332746 2
E15475322747. 2
61547532748, 4

Question Number : 62 Question Id : 6154758656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

MUMg W Flauesmear CUIME) eredrmi ByemwpaHSLILIGILIGUT

(1)  eUITLDEDTE (2) FHERISTHLEF eUTWIT
(3)  Fleuenmenr @Gﬁﬂﬁufr (4)  GUETETEVITT
Options:

E1547533745. 1
E1547533746. 2
61547533747, 3
61547533748, 4

Question Number : 63 Question Id : 6154758657 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Flev QUITILIGEBLD Flov 2 ETENOSEBLL’ GTETELD Helleng Hadlen < ilwir

(1) FE\ T 5T mevot|

(2) FeULDIm

(3) Umeuumy s

(4) em6Uen&HFQ Feual

Options:

61547533749, 1
61547533750 2
1547533751 2
E15475323752 4

Question Number : 63 Question Id : 6154758657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

'Flev QUMLISEBLD Flev 2 GUTENLNSHEHLN’ GTEITENILD Hallens gmeﬂiﬁﬁl C‘?__b#hﬂu_lr'r
(1) 5 &\ T& T menot|

(2) Feulnm

(3) LImeuuUImy s
(4) emelemnHEFC Faual

Options:



E15475337459. 1
61547533750, 2
61547533751, 3
61547533752 4

Question Number : 64 Question Id : 6154758658 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o DemUWeT Flm&EenssS CQHmELIL
(1) CQeueflFesEmE aurns enLifl (2) eperfludledr (Loedr
(3) WFUUTEs (4) &ITLIQ6 6p(H LOITEHT

Options:

61547533753, 1
61547533754 2
61547533755 2
61547533756 4

Question Number : 64 Question Id : 6154758658 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
o DemUWeT Flm&EenssS CQHmELIL
(1) CQeueflFesEmE aurns enLifl (2) eperfludledr (Loedr
(3) WFUUTEs (4) &ITLIQ6 6p(H LOITEHT

Options:

61547533753, 1
615475323754 2
61547533755 2
61547533756 4

Question Number : 65 Question Id : 6154758659 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
(w. grwngmdl enp@ll ‘euell @ miliLy) BTL&LD wWmelemny Ul Ummiws ?

(1) DTS &) menrmertl et (2)  ellerfllby mlemevuwlleor
(3) &\ (BB MM LT (4) BTCLITIY 6T
Options:

61547533757, 1
61547533758, 2
E1547533759. 3
E1547533760. 4

Question Number : 65 Question Id : 6154758659 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(. grwngFmdl eip@ll ‘euell @ miliLy] BTL&LD wimeleny Ul Ubmliws ?

(1) DM ME &) menTmertl&eir (2)  ellerfltby Blemevulleor
(3) &\ (BB BIem &S LT (4) mBTCLITIY&6T
Options:

E1547533757. 1
E1547533758. 2
61547533755, 3
61547533760, 4

Question Number : 66 Question Id : 6154758660 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

UGSET ULRIGEET enDWnTES GQ&meao(h @Urmwn SElmeagerar oG
HITEUEY

(1) cuenT CHetlWiledT emLDHSTHET (2) Sl (D& SHE55HET
(3) GMlEerF & CaHeor (4) CeauhsHE& B
Options:

51547533761, 1
61547533762 2
61547533763, 3
61547523764, 4

Question Number : 66 Question Id : 6154758660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
LUB&T LDMIG&EMET MDWIDNMTSESE G&meaor(h @UmRl S(magersir oG
BHITEUEY

(1) cuenT CHallWiledT emLDbHSTHET (2) Sl (D5 GEH5HET
(3) GmlEerF & CHmeir (4) CeumsHE hiy
Options:

61547523761, 1
61547533762 2
E1547533763. 3
E1547533764. 4

Question Number : 67 Question Id : 6154758661 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘e FGIFIL eTeiTLISI
(1) &HITesor element (2)  eNwmiGsmeT allemesnt
(3) ereuey allemsor (4) (o ellement



Options:

61547533765, 1
1547533766 2
E15475337E7. 2
61547532768, 4

Question Number : 67 Question Id : 6154758661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘epl_FGIFIL aTeOTLISI

(1) &HITIT600T clemeoT (2) ellwmGsmeT allement
(3) ereuev allemsor (4) oy ellement
Options:

61547533765 1
61547533766, 2
E154753376EY. 3
E1547533768. 4

Question Number : 68 Question Id : 6154758662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HEOTEmLD, Hemin, FFID, FTISH60 L Femal WTT Fammlcy @)L b Qumin?

(1) 5D MU (2) Gsmdl
(3) FHemeual (4) QFailedl
Options:

615475337691
E1547533770. 2
E1547533771. 3
B1547533772. 4

Question Number : 68 Question Id : 6154758662 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HEOTEmLD, Hemin, FFID, FTISH60 L Femal WTT Fammlcy @)L b Qumin?

(1) 5D MU (2) Gsmdl
(3) FHemeual (4) QFailedl
Options:

615475337659, 1
E1547533770. 2
61547523771, 3
E1547533772. 4

Question Number : 69 Question Id : 6154758663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
‘o fluemal Uletr CHpema surfledr *

(1) CleuemoTF ImELD (2) EWOHFrImELID
3 2 M&fymEh 1) aIERFETTEGLID
Options:

615475337731
61547533774 2
61547533775 3
E1547533776. 4

Question Number : 69 Question Id : 6154758663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘2 flwemal Ulsor Crpema eurfledr *

(1) GleuetoTF I m&LD (2) @WmFImESLD
(3) &rﬂéﬁm@ﬂj (4) eUEHFFETMEGLD
Options:

BE1547533773. 1
B1547533774. 2
61547533775 3
E1547533776. 4

Question Number : 70 Question Id : 6154758664 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘S CF Cauwld sGLUD WHGD FDCHLD 2argeaT’ — BT QB 2 aulnll
Gumedl suemas

(1) GQUIWImeuLnL] Guimedl 2) Wmliyeunl Guimed
(3)  allemesrwjeuinl’ GLimedl (4 Uwsneunll Gumebl
Options:

61547533777, 1
E1547533778. 2
B1547533779. 3
61547533780, 4

Question Number : 70 Question Id : 6154758664 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



"HenJCFF Caupld SsGLUDND UHGID SmEHLD 2ergearT” — BT aIGLID 2 aulnll
Gumedl suem s

(1) QULImeU Lol GLimed] (2)  Wmliyeunls Guimed
(3)  ellemerwjeunl Guimedl (4) uUwseinll Gumedl
Options:

B1547533777. 1
B1547533778. 2
615475337758 3
61547533780, 4

Question Number : 71 Question Id : 6154758665 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘o engwmAflwl’ eredreyb Amrid Quwirme GOILSLLu®ueurt

(1) CFenTmelemIT LT (2) @\eTLDL,Teury
(3) 15 & F oI & Eenf | LT (4) Cuprm&flur
Options:

E1547533781. 1
B1547533782. 2
61547533783, 3
61547533754, 4

Question Number : 71 Question Id : 6154758665 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘o engwmAflwl’ eredreyb Amrid Quwirme GOILSLLu®ueurt

(1) CFenTmelemIT LT (2) @\eTLDL,Teury
(3) 15 & F oI & Eenf | LT (4) Cuprm&flur
Options:

E1547533781. 1
B1547533782. 2
61547533783, 3
61547533754, 4

Question Number : 72 Question Id : 6154758666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

L0MISHEULD’ 6TemILD QIEFMEL LIGUaVAIT &HTeLSHEI6) eTalaU MM IOMMmINemLHEHSI?

(1) LOMBIFEeuLD (2) LOMISETLD
(3) LOM&GLPLD (4) DMISEETLD
Options:

E1547523785 1



E1547533786. 2
B1547533787. 3
61547533788, 4

Question Number : 72 Question Id : 6154758666 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

LOMIGEUID’ 6TenID QIEFTEY LIGVEVAUTT STEU&HEIeU erelaumml WDMMMLDENL HSHSI?

(1) LOMIEeULD (2) LOMISETLD
(3) LM&GLPLD (4) LmGEeTin
Options:

61547523785 1
61547533786, 2
E1547533787. 3
E1547533788. 4

Question Number : 73 Question Id : 6154758667 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

yreilL Qi Grlss 16| Braned &me(holele Qeeflulll L ayem®

(1) 1859 (2) 1854
(3) 1856 (4) 1857
Options:

615475337859, 1
61547533730, 2
61547523731, 3
E15475337392. 4

Question Number : 73 Question Id : 6154758667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

GirmalL Quml GM&s 2LU6| HIMES &me(hGlele) Qeaueflulll L ayevor®

(1) 1859 (2) 1854
(3) 1856 (4) 1857
Options:

515475337859, 1
61547533730, 2
61547533731, 3
61547533732, 4

Question Number : 74 Question Id : 6154758668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Qeueorm WrlLlew Camearmiw (bn&eu mlEsuor(h)

(1) Glaums ml&euor(h) (2)  aTflwu plaard
(3) Q& Temd ml&Heuor(h (4) o flFQsma mlaseorb
Options:

E15475337393. 1
B15475337394. 2
615475337385 3
61547533736, 4

Question Number : 74 Question Id : 6154758668 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

GleuesarIm wWrliLieéw Camesrmlwl (bw&ev ml&Esuor(h)

(1) Gleumsir ml&enor(h) (2)  aTflwu mlasaorG
(3) QEmema bl evor(h (4) e fleQsmsu mlsenor(h
Options:

615475337392 1
E15475337394. 2
E1547533735. 3
B15475337396. 4

Question Number : 75 Question Id : 6154758669 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
2 (HUGLD (LHEOTEODWTEIEl 660l HHHMSH MU WTHS  Cl&Hmeoor
FlmeoTmilie] (Wemm

(1) UL @ (pemm (2) @IFMEUT (LD6mM
(3) UML) (oenm (4) ellemds (Wwenm
Options:

61547533737, 1
E15475337398. 2
E15475337395. 3
51547533800, 4

Question Number : 75 Question Id : 6154758669 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
2 (HUGLD (LHEOTEODWTEIEl 660l HHHMSH MU WTHS  Cl&Hmeoor
Smemle] (Lpem
(1) UL @ (pemm (2) @IFMEUT (LD6mM
(3) UML) (oenm (4) ellemds (Wwenm



Options:

61547533797, 1
61547532798 2
E15475322799. 2
61547532800 4

Question Number : 76 Question Id : 6154758670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
GOILUILL  &smud  @Gevanne] el Bl&ELaIGlduensy  6erd: HHSID
2| SO0 (S (LPem M WITEI?

(1) 2em0 UL UI6) 216G (Lnemm (2) 2 emaillis) o)amiE(Lpemm

3 Ggraroeilued sgmewan 4 UIOTHHILIOL G D

Options:

61547533801, 1
61547532802 2
61547522802 5
61547532804, 4

Question Number : 76 Question Id : 6154758670 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
GOIUYLL &M Geaning] Weor(hild miSaGleuemey 660l &HIHBID
2| €00 (S (LPem M WITSI?

(1) 2em0 UL UI6) 216G (Lnemm (2) 2 emaillis) o)amiE(Lpemm

3 Ggmaroeiued sgmewan @) uUrOTHHILIOL e G D

Options:

1547533801, 1
E15475323802. 2
61547532802,
61547532804, 4

Question Number : 77 Question Id : 6154758671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘GoeTmila] eerUs  &Hamev  ummlin e amleflwey ety GMOIULIGELD
(S (Pem D 6T&! ?

(1) GISMeLLIQLOGTILIGY 26D LDemIM

(2)  euTeUTMMILIC) 6TDIE (LN

(3) SemnUILIw6L HmeoTTiiley

(4) OTF&FILES B meormiiley

Options:

61547533805, 1
615475323806, 2
61547533807, 2
61547533808, 4

Question Number : 77 Question Id : 6154758671 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Toermila eaerus  &amew ummin e gmlallud aarm  GolUUGILD
B OIS (Pl D) 6TS! 7

(1) QSMELLILG LOGTILIGY LTI (SH(LPEtID)

(2)  euremHIILIE & PenDm

(3) SemUILIwew Smermiiiey

(4) WTTSEFIWS Smeormiiiey

Options:

61547533805, 1
61547533806 2
61547532807, 2
61547522808, 4

Question Number : 78 Question Id : 6154758672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

LMD YOG ULIEDEY (LDETemeULILIS)

(1) BILTT @evsSiwid (2) QULLMTT @evsEIwLh
(3) ol LagTemtl L @evé&Swin (4) &Hebls @evsEIWwLD
Options:
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Question Number : 78 Question Id : 6154758672 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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61547533810, 2
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Question Number : 79 Question Id : 6154758673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 79 Question Id : 6154758673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 80 Question Id : 6154758674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547533817, 1
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Question Number : 80 Question Id : 6154758674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 81 Question Id : 6154758675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547533821. 1
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Question Number : 81 Question Id : 6154758675 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 82 Question Id : 6154758676 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 82 Question Id : 6154758676 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 83 Question Id : 6154758677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

515475338259, 1
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Question Number : 83 Question Id : 6154758677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 84 Question Id : 6154758678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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61547532835
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Question Number : 84 Question Id : 6154758678 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 85 Question Id : 6154758679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 85 Question Id : 6154758679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 86 Question Id : 6154758680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 86 Question Id : 6154758680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 87 Question Id : 6154758681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 87 Question Id : 6154758681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 88 Question Id : 6154758682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 88 Question Id : 6154758682 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 89 Question Id : 6154758683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 89 Question Id : 6154758683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 90 Question Id : 6154758684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 90 Question Id : 6154758684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 91 Question Id : 6154758685 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547533861, 1
61547533862 2
61547533863 2
61547533864 4

Question Number : 91 Question Id : 6154758685 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 92 Question Id : 6154758686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 92 Question Id : 6154758686 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 93 Question Id : 6154758687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547533869, 1
1547533870 2
E15475323871. 2
615475323872, 4

Question Number : 93 Question Id : 6154758687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 94 Question Id : 6154758688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 94 Question Id : 6154758688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 95 Question Id : 6154758689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 95 Question Id : 6154758689 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0O
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Options:
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Question Number : 96 Question Id : 6154758690 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0O
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Options:
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Question Number : 96 Question Id : 6154758690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 97 Question Id : 6154758691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



REITLIGITLD em&Faush Tl(H(Lnemm

(a) GlLUIRLDUIMedTemLOW] LD S (HeuetoTenor MLDemevem WLF FmUIL& &I UmhElsormal.
(b) Glmeallema LU, SlpLiLIeveumenor(h 6TeoTLl LIGHESLILL (H6Temal.

(c) 3071 LML eL&HemeTs Gl & menoT LGl

(d)  @eTUS BTWGITLOTTSETTE) LML UL LS.

@eummisT siflwmenra

(1) (a), (b), (c)
(2) (a), (), (d)
(3) (b), (<), (d)

(4) () (b) (d)

Options:
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Question Number : 97 Question Id : 6154758691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 98 Question Id : 6154758692 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 98 Question Id : 6154758692 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 99 Question Id : 6154758693 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 100 Question Id : 6154758694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 101 Question Id : 6154758695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 101 Question Id : 6154758695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 102 Question Id : 6154758696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 102 Question Id ;: 6154758696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 103 Question 1d : 6154758697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 103 Question Id ;: 6154758697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 104 Question Id : 6154758698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 104 Question Id : 6154758698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 105 Question 1d : 6154758699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 105 Question Id : 6154758699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 106 Question Id : 6154758700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Question Number : 106 Question Id : 6154758700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 107 Question Id : 6154758701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 107 Question Id : 6154758701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 108 Question Id : 6154758702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 108 Question Id : 6154758702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 109 Question Id : 6154758703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 109 Question Id ;: 6154758703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 110 Question Id : 6154758704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 110 Question Id : 6154758704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 111 Question Id : 6154758705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 112 Question Id : 6154758706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 113 Question 1d : 6154758707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 114 Question Id : 6154758708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 115 Question Id : 6154758709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Correct Marks: 2 Wrong Marks: 0



SU0D @emstorwl rBrE SLOILDHTL g 60 BemL QUMM [H&[hIGET

(a) LD&Ien [T
b  G&maney
©  OFemenen

@ g &Ca

@ eummieT &iflwmenrsl

(1) (2, (b) (o), (d)
(2) (a). (b). (c)
(3) (b), (c). (d)

(4) (a), (c). (d)

Options:

61547533957, 1
E1547533958 2
615475223959, 5
615475323960 4

Question Number : 116 Question Id : 6154758710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



GIUMB&SHI&:

FRIGE QHEIWST GMEBley LOETeTTHEBL SeudHEemeTl! Ummll  LITL6&

6TEUOTE00T | &6t & W LD.
(a) GeueTumifl @ 07
(b) Gu&enT () 04
() &l (i) 17
(d) erfleof] (iv) 06

@ eummieT Sl mesTa

(1) (a)-(11). (b)-(1v). (e)-(1). (d)-( 111)
(2)  (a)-(v). (b)-(11), (e)-(111). (d)-(1)
(3) (a)-(11). (b)-(1v). (e)-(1). (d)-(11)

(4) (a)-(111). (b)-(1), (e)-(1v). (d)-(11)

Options:

61547533961, 1
615475339362 2
E15475339632. 2
615475232964, 4

Question Number : 116 Question Id : 6154758710 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



GIUMB&SHI&:

FRIGE QHEIWST GMEBley LOETeTTHEBL SeudHEemeTl! Ummll  LITL6&

6TEUOTE00T | &6t & W LD.
(a) GeueTumifl @ 07
(b) Gu&enT () 04
() &l (i) 17
(d) erfleof] (iv) 06

@ eummieT Sl mesTa

(1) (a)-(11). (b)-(1v). (e)-(1). (d)-( 111)
(2)  (a)-(v). (b)-(11), (e)-(111). (d)-(1)
(3) (a)-(11). (b)-(1v). (e)-(1). (d)-(11)

(4) (a)-(111). (b)-(1), (e)-(1v). (d)-(11)

Options:

61547533961, 1
615475339362 2
E15475339632. 2
615475232964, 4

Question Number : 117 Question Id : 6154758711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



CIUMHSHHE:

STULNUMRISERLD &(H&S M &EHLD

(a) [BIGEGLWIT Smellwh (1 13
(b)  (@&ETTLOGD0 (i) 10
(¢) CUEUBHSEIT LTmesrh (i) 05
(d) HeuCsE (v) 12

@ eummieT Fiflumeorsl

(1) (a)-(11). (b)-(111). (¢)-(1v). (d)-(1)
(2) (a)-(1v). (b)-(1). (c)-(id). (d)-(111)
(3) (a)-(1). (b)-(1v). (e)-(111). (d)-(11)
(4) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)

Options:
615475334965 1

E1547533596E6. 2
E1547533967. 3
51547533968, 4

Question Number : 117 Question Id ;: 6154758711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



CIUMHSHHE:

STULNUMRISERLD &(H&S M &EHLD

(a) [BIGEGLWIT Smellwh (1 13
(b)  (@&ETTLOGD0 (i) 10
(¢) CUEUBHSEIT LTmesrh (i) 05
(d) HeuCsE (v) 12

@ eummieT Fiflumeorsl

(1) (a)-(11). (b)-(111). (¢)-(1v). (d)-(1)
(2) (a)-(1v). (b)-(1). (c)-(id). (d)-(111)
(3) (a)-(1). (b)-(1v). (e)-(111). (d)-(11)
(4) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)

Options:
615475334965 1

E1547533596E6. 2
E1547533967. 3
51547533968, 4

Question Number : 118 Question Id : 6154758712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



CIUMIH & & &:

2 Al BresEsLD,
(a) Gnl&seTL CHeu (i) 2 eoremln alleméa&LD
(b)  SYHET BHSIWITT i) Slmeu(pLl L6
(¢) LDEOTEUMEFMRIHL BT (i) Feuepmeor CUMSLD
@ 2.wrug Qeuermy (iv) Feauemer FES WMy
(@) 6 M o6 &1l meoTa

(1) (a)-(m1). (b)-(v). (e)-(1). (d)-(11)
(2) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(3) (a)-(1). (b)-(111). (c)-(v). (d)-(1)
(4)  (a)-(ii). (b)-(Gii). (e)-(). (d)-(iv)
Options:

15475332969,
15475322970,

51547533971,
E1547533972.

[ N

Question Number : 118 Question Id : 6154758712 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



CIUMIH & & &:

2 Al BresEsLD,
(a) Gnl&seTL CHeu (i) 2 eoremln alleméa&LD
(b)  SYHET BHSIWITT i) Slmeu(pLl L6
(¢) LDEOTEUMEFMRIHL BT (i) Feuepmeor CUMSLD
@ 2.wrug Qeuermy (iv) Feauemer FES WMy
(@) 6 M o6 &1l meoTa

(1) (a)-(m1). (b)-(v). (e)-(1). (d)-(11)
(2) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(3) (a)-(1). (b)-(111). (c)-(v). (d)-(1)
(4)  (a)-(ii). (b)-(Gii). (e)-(). (d)-(iv)
Options:

15475332969,
15475322970,

51547533971,
E1547533972.

[ N

Question Number : 119 Question Id : 6154758713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



CUMBSH&H:
HTEUSILD Hem& LOMHSHITHEHLD

(a) SHeMEV(LDEMME&HET (1) SHMm&ST
(b) HleveumenTT GLOTEHEOTTLOLITET (11)  W(RETIT
(c) Flev CHImIGeTlel Flov Dol lGTHET  (1il)  He60TITMHI G T600T |

(d) QGLm&(Lpe (1v) FeuoNHS&HSHTLD

@eummieT &iflumers

(1) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(2) (a)-(111). (b)-(v). (c)-(1). (d)-(11)
(3) (a)-(1). (b)-(1v). (c)-(1m1). (d)-(1)
@) (a)-(iv), (b)-(i), (¢)-(1). (d)-(iii)

Options:
£15475334973 1

E1547533974. 2
51547533975 3
51547533976, 4

Question Number : 119 Question 1d : 6154758713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



CUMBSH&H:
HTEUSILD Hem& LOMHSHITHEHLD

(a) SHeMEV(LDEMME&HET (1) SHMm&ST
(b) HleveumenTT GLOTEHEOTTLOLITET (11)  W(RETIT
(c) Flev CHImIGeTlel Flov Dol lGTHET  (1il)  He60TITMHI G T600T |

(d) QGLm&(Lpe (1v) FeuoNHS&HSHTLD

@eummieT &iflumers

(1) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(2) (a)-(111). (b)-(v). (c)-(1). (d)-(11)
(3) (a)-(1). (b)-(1v). (c)-(1m1). (d)-(1)
@) (a)-(iv), (b)-(i), (¢)-(1). (d)-(iii)

Options:
£15475334973 1

E1547533974. 2
51547533975 3
51547533976, 4

Question Number : 120 Question Id : 6154758714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



CUMHSHSI&H:

LML LG LI6L Breu&Enn oL S flurseEsn

(a) STl LImlig ey (1) (LHSHICAIMIGL GLImLILIT
(b) GQeuesorLImLl LML g6V 1) aFflwr Quwr Asflwellsvenesy
(© Ugubs igliluwey (1) UresCaFmE (wenfleur
d) Ulpunss Slilens (iv) @eoorel T LietoTIq &I
@ eummie &FiflmeoTEl

(1) (a)-(1), (b)-(i1). (c)-(1v). (d)-(11)
(2)  (a)-(iil). (b)-(iv). (¢)-(id). (d)-(1)
(3)  (a)-(1n), (b)-(a11), (c)-(iv), (d)-(1)
(4) (a)-(i11). (b)-(11). (c)-(v). (d)-(1)

Options:

61547533977,
61547533978,
61547533979,
£1547533980.

[ N

Question Number : 120 Question Id : 6154758714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



CUMHSHSI&H:

LML LG LI6L Breu&Enn oL S flurseEsn

(a) STl LImlig ey (1) (LHSHICAIMIGL GLImLILIT
(b) GQeuesorLImLl LML g6V 1) aFflwr Quwr Asflwellsvenesy
(© Ugubs igliluwey (1) UresCaFmE (wenfleur
d) Ulpunss Slilens (iv) @eoorel T LietoTIq &I
@ eummie &FiflmeoTEl

(1) (a)-(1), (b)-(i1). (c)-(1v). (d)-(11)
(2)  (a)-(iil). (b)-(iv). (¢)-(id). (d)-(1)
(3)  (a)-(1n), (b)-(a11), (c)-(iv), (d)-(1)
(4) (a)-(i11). (b)-(11). (c)-(v). (d)-(1)

Options:

61547533977,
61547533978,
61547533979,
£1547533980.

[ N

Question Number : 121 Question Id : 6154758715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



CUMBH &S &:

SUSTTEIWLD &S CWIMEHLD

(a)

(b)
(c)
(d)

FESNETE) @ &l.eur. |MEHHTH6
UG ssyrsl (i) efgwmupesfieur

O mesfl LIUmLL ST TE) (iil) BICeuedld FMRIGT LICOIA G
STSIOTENE HHTTH (iv) FHET CF&HT LS

@ eummieT FiflwmenTas

(1)  (a)-(1). (b)-Gid), (c)-Av). (d)-(1)
(2) (a)-(11). (b)-(1). (e)-(av). (d)-(111)
(3) (a)-(1). (b)-(1v). (¢)-(1). (d)-(111)
(4) (a)-(11). (b)-(1), (€)-(113), (d)-(1v)

Options:

61547533981, 1

61547533982 2

E15475323982 2

61547522954, 4

Question Number : 121 Question Id : 6154758715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



CUMBH &S &:

SUSTTEIWLD &S CWIMEHLD

(a)

(b)
(c)
(d)

FESNETE) @ &l.eur. |MEHHTH6
UG ssyrsl (i) efgwmupesfieur

O mesfl LIUmLL ST TE) (iil) BICeuedld FMRIGT LICOIA G
STSIOTENE HHTTH (iv) FHET CF&HT LS

@ eummieT FiflwmenTas

(1)  (a)-(1). (b)-Gid), (c)-Av). (d)-(1)
(2) (a)-(11). (b)-(1). (e)-(av). (d)-(111)
(3) (a)-(1). (b)-(1v). (¢)-(1). (d)-(111)
(4) (a)-(11). (b)-(1), (€)-(113), (d)-(1v)

Options:

61547533981, 1

615475339382 2

E15475323982 2

61547522954, 4

Question Number : 122 Question Id : 6154758716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



GILIMH & &1 &:

S MIEBTHEBLD YelTash CHTLUMHI&HEHBLD

(a) Iagnés@g;ﬂgw 1)  Goludlwe Camumd)
(b) Grmeuesdl LITHS (i) E&Trse CamLlump
(c) QUITIQ6OTE0OTL . 1. F(GIT (i) sLLellblys Camiumb
(d) Weage &LLHECHT (iv) eum&Iliys CamLlum@
@) eummieT siflimeoTs!

(1) (a)-(111). (b)-(1). (c)-(v). (d)-(11)
(2) (a)-(111). (b)-(1v), (c)-(11). (d)-(1)
(3) (a)-(m1). (b)-(v). (c)-(1). (d)-(11)
(4) (a)-(m1). (b)-(11). (c)-(1v). (d}-(1)

Options:

615475323985 1

61547533986 2

E1547533987. 3
B1547533988. 4

Question Number : 122 Question Id : 6154758716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



GILIMH & &1 &:

S MIEBTHEBLD YelTash CHTLUMHI&HEHBLD

(a) Iagnés@g;ﬂgw 1)  Goludlwe Camumd)
(b) Grmeuesdl LITHS (i) E&Trse CamLlump
(c) QUITIQ6OTE0OTL . 1. F(GIT (i) sLLellblys Camiumb
(d) Weage &LLHECHT (iv) eum&Iliys CamLlum@
@) eummieT siflimeoTs!

(1) (a)-(111). (b)-(1). (c)-(v). (d)-(11)
(2) (a)-(111). (b)-(1v), (c)-(11). (d)-(1)
(3) (a)-(m1). (b)-(v). (c)-(1). (d)-(11)
(4) (a)-(m1). (b)-(11). (c)-(1v). (d}-(1)

Options:

615475323985 1

61547533986 2

E1547533987. 3
B1547533988. 4

Question Number : 123 Question Id ;: 6154758717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



GIUMH & & &:

HEOHLILITL6VHEHLD CHTEHHECHTIHLD

(a) UlFensasmrer Hens (1)  [BIT. GUITEOTLOITLDETIEY

(b) GeUaTemeTHETTTEFML Hems (1) &.FeoN(N&HEHSITLD

() SHmeTFTEIL FevoremL (111) &J.6Tedr. GILIIHLOMET

d &L GDELDITL 6T Hem5 (iv) BT.EUTEEHEITe0r
@\ eum.mieT &Fifluwmenta

(1) (&)-(id). (b)-(iv). (c)-G). (d)-(1)
(2) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(3) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(4) (a)-(v), (b)-(111). (c)-(1). (d)-(11)

Options:

61547533989, 1
61547533990 2
61547533991, 2
E1547523992 4

Question Number : 123 Question Id : 6154758717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



GIUMH & & &:

HEOHLILITL6VHEHLD CHTEHHECHTIHLD

(a) UlFensasmrer Hens (1)  [BIT. GUITEOTLOITLDETIEY

(b) GeUaTemeTHETTTEFML Hems (1) &.FeoN(N&HEHSITLD

() SHmeTFTEIL FevoremL (111) &J.6Tedr. GILIIHLOMET

d &L GDELDITL 6T Hem5 (iv) BT.EUTEEHEITe0r
@\ eum.mieT &Fifluwmenta

(1) (&)-(id). (b)-(iv). (c)-G). (d)-(1)
(2) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(3) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(4) (a)-(v), (b)-(111). (c)-(1). (d)-(11)

Options:

61547533989, 1
61547533990 2
61547533991, 2
E1547523992 4

Question Number : 124 Question Id : 6154758718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



CIUMB&EH&:
CamwWilsvmenn &L (healldCsmmLh

(a) WerL&UUL M GemasCamuiley (1) @\TeoTLITLD @[T M&FJITE 6T

(b) &SMTIM&ILD FleusorCamuiley (i) SBegemTlIL HITWSSHT

() SEHeIenoTTL D QeUBIGLITFLTE (i) PLRETMITLD & E6VTE SIS 60T
Gammulley

(d) Sflysusorid eICT& D CaEmuiley (iv) LCHBSTeUTLDET

@) 6U M misT FiflimeoTsl

(1) (a)-(1v). (b)-(11). (c)-(11). (d)-(1)
(2) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(3) (a)-(1v). (b)-(1 ). (¢)-(11). (d)-(a12)
(4) (a)-(11). (b)-(v). (c)-(11). (d)-(1)

Options:

61547533993, 1
61547533994 2
61547533995 2
61547532996 4

Question Number : 124 Question Id : 6154758718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



CIUMB&EH&:
CamwWilsvmenn &L (healldCsmmLh

(a) WerL&UUL M GemasCamuiley (1) @\TeoTLITLD @[T M&FJITE 6T

(b) &SMTIM&ILD FleusorCamuiley (i) SBegemTlIL HITWSSHT

() SEHeIenoTTL D QeUBIGLITFLTE (i) PLRETMITLD & E6VTE SIS 60T
Gammulley

(d) Sflysusorid eICT& D CaEmuiley (iv) LCHBSTeUTLDET

@) 6U M misT FiflimeoTsl

(1) (a)-(1v). (b)-(11). (c)-(11). (d)-(1)
(2) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(3) (a)-(1v). (b)-(1 ). (¢)-(11). (d)-(a12)
(4) (a)-(11). (b)-(v). (c)-(11). (d)-(1)

Options:

61547533993, 1
61547533994 2
61547533995 2
61547532996 4

Question Number : 125 Question Id : 6154758719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



CIUMHSHISH:

‘gmleflwev Holp’ Breuh o FflwsLd

(a) SemeudF GIFMEVEUMTHSLD 1) GBI G.(LLS S

®  gyidlailwe sudldluisy (i) @UmoS&BSTID

() QUTEHET UElaE auerid LE (1) @IMSTGI&FeUauLILIGHT
(d  gidlailwe sudlp 1iv) QUT.C&F. GLhHenSsF Ll

@eummisT &iflmeorsl

(1) (a)-(111). (b)-(1v). (¢)-(11). (d)-(1)
(2) (a)-(1). (b)-(111). (c)-(1v). (d)-(11)
(3) (a)-(111). (b)-(1). (c)-(1). (d)-(1v)
(4) (a)-(1). (b)-(1m1). (c)-(11). (d)-(1v)

Options:

61547533997, 1
£15475323998 2
£1547523999 2
61547524000, 4

Question Number : 125 Question Id : 6154758719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

CIUMHSHISH:

‘gmleflwev Holp’ Breuh o FflwsLd

(a) SemeudF GIFMEVEUMTHSLD 1) GBI G.(LLS S

®  gyidlailwe sudldluisy (i) @UmoS&BSTID

() QUTEHET UElaE auerid LE (1) @IMSTGI&FeUauLILIGHT
(d  gidlailwe sudlp 1iv) QUT.C&F. GLhHenSsF Ll

@eummisT &iflmeorsl

(1) (a)-(111). (b)-(1v). (¢)-(11). (d)-(1)
(2) (a)-(1). (b)-(111). (c)-(1v). (d)-(11)
(3) (a)-(111). (b)-(1). (c)-(1). (d)-(1v)
(4) (a)-(1). (b)-(1m1). (c)-(11). (d)-(1v)



Options:

61547533997, 1
£15475323998 2
£1547523999 2
61547524000, 4

Question Number : 126 Question Id : 6154758720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

mIreUB & SIH

CHFM InFemLIEF FTTHS TFTHeler auflengwpemnm
(a) @ eTEehCFL GlFeiTent]

(b) 56U TRl &) 6Terf]

(e) SI&MH GUHEU6TS S Te0T

(d)  GETWHNSHHS SIEHF W FleTerfleuemeau st

@) eum oyel

(1) (b).(d).(a).(c) &l
(2) (e).(a).(d).(b) &l
(3)  (a)(e)(b)(d) &ifl

(4) (d).(b).(a).(c) Fif

Options:

61547524001, 1
61547534002, 2
61547534003 =
61547534004, 4

Question Number : 126 Question 1d : 6154758720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BITVLIOSHS!IS :

CFMLD InJemLIF FTTHS TFIH6T 6 aulflemaF(penm
(a) @ eTehCFL Gl&eiTent]

(b)  HevmIEaTerf]

(e) ST&TH GIUHEU6TS S MeiT

(d) GeTWHmESS SIEHF L FeTerfleueameausir

@) 6um oyer

(1) (b).(d).(a).(c) &Fifl
(2) (e).(a).(d).(b) &l
(3)  (a).(e).(b).(d) &
(4) (d).(b).(a).(c) Fif

Options:
E1547534001.

E1547534002,
515475234003,
51547534004,

[ N

Question Number : 127 Question 1d : 6154758721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



BITLBHSSIS

FlmallememwImLey LTmeoors ey SlmallememumLsidensTl] UMHeUSDE (WDeiTLITSH
QleMLOLIEM&

(a) &L_6)6T cUTLD& Sl

(b) LIS &0

(c) uruilrn

(d) SemallllL_H&HLND

@) eu mmi6T
(1) (a).(c).(b).(d) &7l
(2)  (b).c)(a).(d) &FIfl
(3) (¢).(a).(d).(b) &rf]
(4) (a).(b).(c).(d) &f]
Options:
1547524005 1
C1E47E24008. 2

61547524007, 3
E1547534005. 4

Question Number : 127 Question Id : 6154758721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BITLBHSSIS

FlmallememwImLey LTmeoors ey SlmallememumLsidensTl] UMHeUSDE (WDeiTLITSH
QleMLOLIEM&

(a) &L_6)6T cUTLD& Sl

(b) LIS &0

(c) uruilrn

(d) SemallllL_H&HLND

@) eu mmi6T
(1) (a).(c).(b).(d) &7l
(2)  (b).c)(a).(d) &FIfl
(3) (¢).(a).(d).(b) &rf]
(4) (a).(b).(c).(d) &f]
Options:
1547524005 1
C1E47E24008. 2

61547524007, 3
E1547534005. 4

Question Number : 128 Question Id : 6154758722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BIFLLOESIS
&HEU0TCOOTE0T 2NN FHRlem&L LITTH S SL600TL T LIMIQLWI LIML 6V

(a) LD IT& GUEDT 6U TS 6m6l
(b) 20l Qelstor FRIGH
(c) &L0eVLILY, HITmIGLOIT

(d) &SMLLTLD HIToELnmm

@) eum muei

(1 (). (©. (a). (d) &
(2) (). (b). (d), (a) &Il
(3)  (d). (c). (a). (b) &FIifl

(4)  (a). (d). (b). (c) &

Options:

61547534009, 1
61547534010 2
61547534011, =2
E1547524012. 4

Question Number : 128 Question Id : 6154758722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BIFLLOESIS
&HEU0TCOOTE0T 2NN FHRlem&L LITTH S SL600TL T LIMIQLWI LIML 6V

(a) LD IT& GUEDT 6U TS 6m6l
(b) 20l Qelstor FRIGH
(c) &L0eVLILY, HITmIGLOIT

(d) &SMLLTLD HIToELnmm

@) eum muei

(1 (). (©. (a). (d) &
(2) (). (b). (d), (a) &Il
(3)  (d). (c). (a). (b) &FIifl

(4)  (a). (d). (b). (c) &

Options:

61547534009, 1
61547534010 2
61547534011, =2
E1547524012. 4

Question Number : 129 Question Id : 6154758723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BITULBSEIS

&Hmev auiflemauiley &Fnﬁgﬁu_l a&n@guﬂ! allmmal QUM FlMisHend BICUSHAT.

(a) GUW L &GLDS
(b)  psedley @ey auBLD
(c) 6ot Ll

(d  WledramyLl L,

@)eum mueT

(1) (e (d). (a), (b) &
(2) (b). (c). (d). (a) &Il
3) (0. (). (). (a) &Ml

(4) (d). (c). (a). (b) &If]

Options:

61547534013, 1
61547534014 2
61547534015 2
1547524016 4

Question Number : 129 Question Id : 6154758723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BITULBSEIS

&Hmev auiflemauiley &Fnﬁgﬁu_l a&n@guﬂ! allmmal QUM FlMisHend BICUSHAT.

(a) GUW L &GLDS
(b)  psedley @ey auBLD
(c) 6ot Ll

(d  WledramyLl L,

@)eum mueT

(1) (e (d). (a), (b) &
(2) (b). (c). (d). (a) &Il
3) (0. (). (). (a) &Ml

(4) (d). (c). (a). (b) &If]

Options:

61547534013, 1
61547534014 2
61547534015 2
1547524016 4

Question Number : 130 Question Id : 6154758724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BITLURGHEIS
QemasTUUlwr @olUuldm uflumeedler e miliL|serT

(a) Sl

(b) ClE&ETFFEHLD

(e) 6B
(d) 2T T&HLD
@) 6um musiT

(1) (b).(d).(a).(c) &l
(2)  (d).(b).(a).(c) &Fifl
(3)  (a).(b).(e).(d) &Fifl

(4) (a).(d).(b).(c) &Ffl

Options:

61547534017, 1
61547524018 2
61547524019, 5
61547534020 4

Question Number : 130 Question Id ;: 6154758724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



BITLURGHEIS
QemasTUUlwr @olUuldm uflumeedler e miliL|serT

(a) Sl

(b) ClE&ETFFEHLD

(e) 6B
(d) 2T T&HLD
@) 6um musiT

(1) (b).(d).(a).(c) &l
(2)  (d).(b).(a).(c) &Fifl
(3)  (a).(b).(e).(d) &Fifl

(4) (a).(d).(b).(c) &Ffl

Options:

61547534017, 1
61547524018 2
61547524019, 5
61547534020 4

Question Number : 131 Question Id ;: 6154758725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



BITeVLGSHSIS :

&HITeV 2g LLlemL_Wilel

(a) Sleumsr mlsenor(h

(b)  @&LTLnemt] bl senor(h
¢) Tl mleeao®

(d)  FmEsTwnent| bl &Esuor(h

) 6u M miel

(1) (a). (). (e). (d) &Fifl
(2) (a). (c). (b). (d) &1f]
(3)  (a) (d). (). (b) &Ff]

(4) (a). (b). (d). (c) &

Options:

61547534021, 1
E15475324022. 2
61547524022 5
61547534024, 4

Question Number : 131 Question Id : 6154758725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BITeVLGSHSIS :

&HITeV 2g LLlemL_Wilel

(a) Sleumsr mlsenor(h

(b)  @&LTLnemt] bl senor(h
¢) Tl mleeao®

(d)  FmEsTwnent| bl &Esuor(h

) 6u M miel

(1) (a). (). (e). (d) &Fifl
(2) (a). (c). (b). (d) &1f]
(3)  (a) (d). (). (b) &Ff]

(4) (a). (b). (d). (c) &

Options:

61547534021, 1
E15475324022. 2
61547524022 5
61547534024, 4

Question Number : 132 Question Id : 6154758726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BITLRS SIS

FngTwailiue Smermilailey FunasmTuFFR &G FLUleT suflend (wenm
(a) FosTul Uflaysenh & (e S EBLD

(b) F(LOGITIL B 0161 60T MBI H6T

(c) F(LOGHITIW mBlemeuILIM(H &6

(d) FASTL 2 ME)FHET

@)eum miel

(1) (d). (b) .(c). (a) &l (2)  (d). (a). (c). (b) &

(3)  (a).(d). (b). (c) &l (4)  (b). (d). (¢). (a) &I
Options:

61547524025, 1
E1547534026. 2
E1547534027. 3
615475340258, 4

Question Number : 132 Question Id ;: 6154758726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
BlITOUGS SIS
FngTwailiue Smermiaile FunsmTuEFR &G F0UlesT aulflend (wemm
(a) FasTwl UiflaseEnl &WpeésHEnLn
(b) F(LLGEITIL B 0161 60T BRI HET
(c) FLOGTIW BlemnsuILIM(H &6

(d) FLOSHTIL 2_MEUFHET

@eum misf
(1) (d). (b) .(0). () & (2)  (d). (a). (c). (b) &l
(3) (a). (d). (b). () &Fifl (4) (b). (d). (c). (a) &Fif

Options:



E1547534025. 1
B1547534026. 2
B1547534027. 3
615475340258, 4

Question Number : 133 Question Id : 6154758727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
BlITLLIG\S SIS

HeLEeUL1960T eudl WMlLEUTESLD (&S SHED 2 ETEn6 H6T

(a) ST
(b) B LAl
(c) CHRITLemL

(d) &HeuLh

@ eumoueT

(1) (b), (a), (d), (c) &l
(2) (a). (b). (c). (d) &ifl
(3) (b). (c). (a). (d) &ifl

(4) (d). (). (a). (c) &ifl

Options:

61547534029, 1
61547534030 2
61547534031, =
61547534032 4

Question Number : 133 Question Id : 6154758727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BITsLLIH & SIS

HEUGIaU L 19 60T eulfl S MILIEVTELD (LHSHSHEHED 2 6TEtIEU FHEIT

(a) HITLY
(b) B Lol
(c) CHmITLemL

(d) FHEULD
@) 6u M mueiT
(1) (b), (a), (d), (c) &1fl
(2)  (a). (b). (c). (d) &l
(3) (b). (c). (a). (d) &ifl

(4) (d). (b). (a). (¢) &If]

Options:

61547534029, 1
61547534030 2
E1547524021. =2
61547524022, 4

Question Number : 134 Question Id : 6154758728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BITILBSHSS

HLOILD @\eMFEF & TRIH6T

{a) Gﬁ]E‘mﬂ
(b) @l
(c) GITILD

(d) 2.emp

@) 6um i

(1) (d). (b). (a). (c) &FIfl
(2) (b (e). (d). (a) &l
(3)  (a). (d). M. (c) Fifl

(4) (d). (c). (a). (b) &Iif]

Options:

61547534033, 1
61547534034 2
61547534035 =
61547534036 4

Question Number : 134 Question 1d : 6154758728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BITILBSHSS

HLOILD @\eMFEF & TRIH6T

{a) Gﬁ]E‘mﬂ
(b) @l
(c) GITILD

(d) 2.emp

@) 6um i

(1) (d). (b). (a). (c) &FIfl
(2) (b (e). (d). (a) &l
(3)  (a). (d). M. (c) Fifl

(4) (d). (c). (a). (b) &Iif]

Options:

61547534033, 1
61547534034 2
61547534035 =
61547534036 4

Question Number : 135 Question 1d : 6154758729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BG5S :
Hmev g LLemLuflev Csmesrmilwl @5%’95&@

(a) L0 6007 | Gl & TLg
(b) Fyervel S
(c) el GleueiTerfl

(d) eDsS

@)eummier

1) (@.0).(c).@) &
(2)  (a).e).(b).(d) &1
(3) (b).(a).(c).(d) &if]
(4) (b).(c).(a).(d) &ifl

Options:

615475340371
615475234028, 2
61547534039 =
61547534040, 4

Question Number : 135 Question 1d : 6154758729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



BG5S :
Hmev g LLemLuflev Csmesrmilwl @5%’95&@

(a) L0 6007 | Gl & TLg
(b) Fyervel S
(c) el GleueiTerfl

(d) eDsS

@)eummier

1) (@.0).(c).@) &
(2)  (a).e).(b).(d) &1
(3) (b).(a).(c).(d) &if]
(4) (b).(c).(a).(d) &ifl

Options:

615475340371
615475234028, 2
61547534039 =
61547534040, 4

Question Number : 136 Question Id : 6154758730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



2 MIFI&GF.MHm (2) : ‘HHCHTT & SIEI &Hebl’ 6TE0T S HOlHLHTemEH
FnusslULUGSEImE.

ST TeuuTLD (ST : @\FHeT HSMHEHFCFMIa), QUTIHET QFmla AT Wamenma
SHCHTImey WL GECW YUiflhs Q& meTem (Ll LD,

(@) el D M efT

1) (2) ey, (&) Fifl
(2) (2.) Fifl, (&m) &if]

(3) (2_) &Heuml, (SHIT) Heuml
4 (2) &, (&M s

Options:

61547534041, 1
61547534042 2
61547534043 =
61547534044 4

Question Number : 136 Question Id : 6154758730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

2 MIGHFHm (2) : ‘HBHCMTT eI & Il &Hebl’ 6TE0T S HO G HTemdEH
FopullsstiubiEnasl.
FHTTeooTLD (ST : @\HT HMHSHFCFMa), QUTIHET QFmla] L FE LMD

SHHECmTrmey WL HECW Yiflhs Q& meTsm (Ll LD,

(@) e D My efT

1 (2) ey, (&) &
(2) (=) &, (&) Fifl

(3)  (20) seum, (&) Heumi
4  (2) &7, (&) Heum

Options:
61547534041 1



E154753404%2 2
61547534043, 3
61547534044, 4

Question Number : 137 Question 1d : 6154758731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

2 MIF&EFHm (2): Fleo UGS SMTINLD et G emeuLLD

@rlenL&aTUUlLUmseT

HITTEOOTLD (&) ; @ueor®  sTUlwhSEsD  @Cr  FWGmSGu

G LG T 60T 60T
@)eummier

(1) (2) &ifl, (&M Heaumi
(2) () Fifl, (&m) &ifl

3  (2) Beumy, &M &ifl
(4) (2)&Heum, (&IT) Heumi

Options:

61547534045, 1
E15475324046 2
61547524047, 5
61547534048, 4

Question Number : 137 Question Id : 6154758731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2 MIF&HFHm (2): FleoIUS&MTIOLD Wweool GLn&emeviL|LD

@ULlemL&aTUUNWMISET

STJ6ooTL (SIT) : @uesor(m  STULNWMISEHLID @G Emmgé‘ﬁ}g;@u_l

G T 6T meor
@\eummief

(1) (2) &, (BM) Heum
2 (2 #7], (M) &7

(3) (2.) Heum, (&) &Fifl
(4) (2-)&6uD, (&IT) Heum

Options:

61547534045, 1
61547534046, 2
61547534047 =
61547534045 4

Question Number : 138 Question 1d : 6154758732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

2 MGEGEFabm (2 ): 'WnrEehEMlal eret LUEeL @ycvau BILILIeoT TS culb SITeTSl.
STT6u0TLD (&) : 606U O L T 7 & ) 2| em60TE Gl aiLh LD&T FF )
QLQWS BTG SIflHE (WPIgealamnL WL
@) eum el
(1) (2) &, (&) Heum
2 (2) seum, (&) Fil
(3) (=) &, (&) Fi]
(4) (2_)&eumi, (&IT) Heumi
Options:

61547534045 1
61547534050, 2
61547534051, 3
E1547534052. 4



Question Number : 138 Question Id : 6154758732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
2 MFGEFDHM (2 ): 'WnFEehSIMlal eTetT LIF6L @jevau BILILIe0TTEFS) 6UlHSI6TeTSl.

STTeoOTLD (BT ) 2lcueuldlLILjeoar T EF) D6V 60TE Tl 8wl D D& FF
QLGS SIS SFiHE! (LpLgelemL LD,

() 6u M Ul
(1) (2 ) &, (HM) Heum
(2) () eumy, (&) &
(3) (2) &ifl, (&m) &Fifl
(4) (2_)&euml, (HIT) Heuml
Options:
£1547534049. 1
61547534050, 2

61547534051, 3
61547534052, 4

Question Number : 139 Question Id : 6154758733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

2 MIEGFDHm (2): @eEE LS T 60T cudlwimssLi LiguoT LML emL_L1
Ul BEQ &meTer @) Wswilh.

SITTEO0TLD (&HIT) LIemL_LIL|&6IT LI6noT LIML_6mL WSTTHSHLOMSLI
LN oElued &&El 60t meoT.

@)eum muelt

(1) (2.) Heum, (Hm) &Fifl
(2) (=) &l (&) &
(3) (2.) Heuml, (HIT) Heuml
4  (2o)&d), (&M seum
Options:
£1547534053. 1
61547534054, 2

61547524055, 3
E1547534056. 4

Question Number : 139 Question Id : 6154758733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2 MEGFDHm (2 ): @ EE LIS T 60T audlwmssLll LiguoTLIML emL_L1
U BsQ &meTer @)Lswilh.

SITTeU0TLD (&HIT) LiemL_LIL|&6IT L6067 LIMTL_6mL WSTTHSLOMSLI
L&l Liedl &5l et meoT.

@) eum muel
(1) (2) seumy, (&) &ifl
(2)  (2) &0l (&m) &1l

(3) (2_) euml, (HIT) Heuml
(4) (2)&Fif], (&&T) Geum

Options:
61547534053 1

E1547534054. 2
E1547534055. 3
51547534056, 4

Question Number : 140 Question Id ;: 6154758734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

2 MGGEEmDM (2 ): BlHELS5SS &HOEGIHaT CJ Diesnsaisamn G
mEiflwrs eruCunsiln mlawbssiauEcuane.

STITe00TLD (&IT ) : BI&LESE Somd G 2 lllarisaT Blenaums: (b
& (pailey GULTIcueme.
@)eum.mier
(1) (2_) &euml, (Hm) &Fifl
2 (2) &, (M) saum
(3) (2.) &ifl, (&m) &ifl
(4) (2 )Heuml, (HIT) HeUml
Options:

51547534057, 1
61547534058, 2
61547534059, 3
61547524080, 4

Question Number : 140 Question Id : 6154758734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2 MGGHEDHM (2 ): DHEDGHSE HaET&HET CJ bIHDSIIGm0N RET
mEFlwms aTUCUMTSID BlSLES SIS cuanay.

STIe00TLD (&IT ) : B&DESIE Hoed G 2 MUleariHeT HBleneullms: (b
& pailey @mULIGIsuemay.

(@) 6u M muefT

(1)
(2)

(2) Heum, (&) &ifl
(2) &, (%) Heums
(3 (20) &l (&m) &7l
(4 (2 )saum, (&5T) Heum

Options:
1547534057 1

E1547534058. 2
E1547534053. 3
51547534080, 4

Sub-Section Number: 2
Sub-Section Id: 615475380
Question Shuffling Allowed : Yes

Question Id : 6154758735 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension



QaEmHlevmerT il svorenor LiLitD

&Mk HEMETHESHTLD- HeUE

&pefl BlmsSwin 2 ey yrlHsb

BT(H&HeT GFUICHTID--2HIG

BTONle s afEser CGammmald GFWGHTID
IE & 6T &evor GLITID- WIS

G Eo0T LG LI LIGH0oTL_MI&6T FeooTl] L& G&FW@HTLD
UM &6T UL GLmih- L6l

LUS(PMEe BTRIGET BlGINWD 2 ennsCHTID

IDemeUemLILT LemHESmLD-1L] 6l

GUITLDGIGUEITEM &L 6V L D(LNWD STTHEHTID
SeMEUSEL 6D LEGIEU-L16D

S uilgm sUU6seT QUTUenTF GlEWCHTID

LI6U Q&ML 6m 6L MEMITLD- WL

LM&TeTDd GlaFerm Ls&IDEUTeT eT(h&EH TN

o _emevuilel @) HLDemLI-WITLD

2 F&EEIL LAMWHETL QUBSEIYH SHEHTLD
Fn 60 &6V &HET-(LDFH6V

CG&HIMTUTLD BMHEemaE Galanel&H 6T GlEFIGSHTID
CHTEMLNUISE HMTHEH-—IITLD

G WMIBEHTLD HEVEY HeMm L LIS GlalCHmLh
GHIQ LI LIstoTL LD- @)H&H

CEssEle BleanmBHEL (NHHECHTT emeudhECHTin

CUTLOGL &S QIS TEUAUTSH- GBS

eSS @ HHElen6L eTlisl LflhEsmin
SLID&HL 6D HIT(hH- DML

aGHmeriln L6 FHmE 6w (h&HCH T

FFEMLD 2I&GEID- (G LI60L

@) 6016V 6TEUTEOT B6) 6TMIS6T Hemeuuwild &BHESHMLD
&GL&E TLBCHTD- Yalls

QsmOleLmETTITD  6IMRI&SET HBlemeUemINEDILIS Caerl!

SN S W6 | EESTLD-—E)

s allflsesmaser GQuwuilener CUTI&SESHTLD
QTHMS UM SGaemoLl- LGV

QUMUSSS GUGSIL UHSHE EILBCHTLD
Fremsuiley WmLmul —wimh

FHSHD sHIE L afHleLeumney

Frens GUelBHEHTID — eTHRISET

Coaneud Ggamd @& Celipermm) srGenm?



Sub questions

Question Number : 141 Question Id : 6154758736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

QEmHleumeTF&HeT GamMUy T Qe LwsTu®SEIw QUITIheT

(1) ClFMmI&e (2) LFULem&F
(3) FH M FHET (4) BOHHFHHSE
Options:

B1547534061. 1
B154753408%. 2
61547534083, 3
61547524054, 4

Question Number : 142 Question Id : 6154758737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
QETISleVTeT 6T @Ml Licwofl& el

(a) a6 BlBHH
(b)  Lnemev LlemsH sy
()  Hevall Luilewsey
(d)  euenoll&LD CIFLSE

@) eum e

(1)  (a). (). (d) &

(2) (0. (). (a) &Il

(3) (a). (b). (c). (d) &

(4) (a). (c). (d) EFUC]

Options:

61547534065, 1
E15475324066. 2
61547524067, 5
61547534068, 4

Question Number : 143 Question Id : 6154758738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



CIUMHS SIS

(a) &LoeuT 1)  QuUTeT Gl (hH G 60
(b) UIMSHMemLD (i) SHHEHE
{c) LOemEY (111) SHEMETHE
(d) &b (iv) Ulemsse
G e misft

(1) (a)-(i1). (b)-(1). (c)-(iv). (d)-(111) &Ff]
(2)  (a)-(i). (b)-(ii). (¢)-G). (d)-(v) &Fif]
(3) (a)-(i1). (b)-(iv). (¢)-(1). (d)-(i1) &FiF]

(4) (a)-(i1i). (b)-(1v). (¢)-(i1). (d)-(1) &1f]

Options:

61547534069, 1
E15475324070. 2
61547524071, 5
61547534072 4

Question Number : 144 Question Id : 6154758739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BT (HS S8
QF LS Couemeu& e

(a) BT &H6T QFWESHTLD
(b) LIm(p&eT L GL LD
(e) el (N & 6T HeoorCLITLD

(d)  emevemwll YemHEHTLD

() ex D mueTT

(1) (b). (c). (a). (d) &ifl
(2) (&) (c). (b). (d) &l
(3) (a). (d). (c). (b) &l

(4) (c). (d). (a). (b) &Fifl

Options:

61547534073, 1
61547534074 2
61547534075 2
E15475324076. 4

Question Number : 145 Question Id : 6154758740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
2 ME&EIHMI2 ): 2 uEs  (PTCaThm&ED QsmbleomeTiseT QUEBHLD LIMIG
cUE & E edTmenTI .
SHITIEN0TLD (&IT) : QG MAleITET T & 6T @ eueumailiq smiLn 2 GUEHLD
(LDEOT BT MMLD ZY6mL_LLLD.
@) eummier

(1) (2) &7, (&m) &1l
2  (2) sam, (&) &
(3 (2 &0l (BB
4  (2)Bu0m, (&HIT) Heum

Options:

B1547534077. 1
61547534078, 2



B1547534073. 3
61547534080, 4

Question Id : 6154758735 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension



QaEmHlevmerT il svorenor LiLitD

&Mk HEMETHESHTLD- HeUE

&pefl BlmsSwin 2 ey yrlHsb

BT(H&HeT GFUICHTID--2HIG

BTONle s afEser CGammmald GFWGHTID
IE & 6T &evor GLITID- WIS

G Eo0T LG LI LIGH0oTL_MI&6T FeooTl] L& G&FW@HTLD
UM &6T UL GLmih- L6l

LUS(PMEe BTRIGET BlGINWD 2 ennsCHTID

IDemeUemLILT LemHESmLD-1L] 6l

GUITLDGIGUEITEM &L 6V L D(LNWD STTHEHTID
SeMEUSEL 6D LEGIEU-L16D

S uilgm sUU6seT QUTUenTF GlEWCHTID

LI6U Q&ML 6m 6L MEMITLD- WL

LM&TeTDd GlaFerm Ls&IDEUTeT eT(h&EH TN

o _emevuilel @) HLDemLI-WITLD

2 F&EEIL LAMWHETL QUBSEIYH SHEHTLD
Fn 60 &6V &HET-(LDFH6V

CG&HIMTUTLD BMHEemaE Galanel&H 6T GlEFIGSHTID
CHTEMLNUISE HMTHEH-—IITLD

G WMIBEHTLD HEVEY HeMm L LIS GlalCHmLh
GHIQ LI LIstoTL LD- @)H&H

CEssEle BleanmBHEL (NHHECHTT emeudhECHTin

CUTLOGL &S QIS TEUAUTSH- GBS

eSS @ HHElen6L eTlisl LflhEsmin
SLID&HL 6D HIT(hH- DML

aGHmeriln L6 FHmE 6w (h&HCH T

FFEMLD 2I&GEID- (G LI60L

@) 6016V 6TEUTEOT B6) 6TMIS6T Hemeuuwild &BHESHMLD
&GL&E TLBCHTD- Yalls

QsmOleLmETTITD  6IMRI&SET HBlemeUemINEDILIS Caerl!

SN S W6 | EESTLD-—E)

s allflsesmaser GQuwuilener CUTI&SESHTLD
QTHMS UM SGaemoLl- LGV

QUMUSSS GUGSIL UHSHE EILBCHTLD
Fremsuiley WmLmul —wimh

FHSHD sHIE L afHleLeumney

Frens GUelBHEHTID — eTHRISET

Coaneud Ggamd @& Celipermm) srGenm?



Sub questions

Question Number : 141 Question Id : 6154758736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

QEmHleumeTF&HeT GamMUy T Qe LwsTu®SEIw QUITIheT

(1) ClFMmI&e (2) LFULem&F
(3) FH M FHET (4) BOHHFHHSE
Options:

B1547534061. 1
B154753408%. 2
61547534083, 3
61547524054, 4

Question Number : 142 Question Id : 6154758737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
QETISleVTeT 6T @Ml Licwofl& el

(a) a6 BlBHH
(b)  Lnemev LlemsH sy
()  Hevall Luilewsey
(d)  euenoll&LD CIFLSE

@) eum e

(1)  (a). (). (d) &

(2) (0. (). (a) &Il

(3) (a). (b). (c). (d) &

(4) (a). (c). (d) EFUC]

Options:

61547534065, 1
E15475324066. 2
61547524067, 5
61547534068, 4

Question Number : 143 Question Id : 6154758738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



CIUMHS SIS

(a) &LoeuT 1)  QuUTeT Gl (hH G 60
(b) UIMSHMemLD (i) SHHEHE
{c) LOemEY (111) SHEMETHE
(d) &b (iv) Ulemsse
G e misft

(1) (a)-(i1). (b)-(1). (c)-(iv). (d)-(111) &Ff]
(2)  (a)-(i). (b)-(ii). (¢)-G). (d)-(v) &Fif]
(3) (a)-(i1). (b)-(iv). (¢)-(1). (d)-(i1) &FiF]

(4) (a)-(i1i). (b)-(1v). (¢)-(i1). (d)-(1) &1f]

Options:

61547534069, 1
E15475324070. 2
61547524071, 5
61547534072 4

Question Number : 144 Question Id : 6154758739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BT (HS S8
QF LS Couemeu& e

(a) BT &H6T QFWESHTLD
(b) LIm(p&eT L GL LD
(e) el (N & 6T HeoorCLITLD

(d)  emevemwll YemHEHTLD

() ex D mueTT

(1) (b). (c). (a). (d) &ifl
(2) (&) (c). (b). (d) &l
(3) (a). (d). (c). (b) &l

(4) (c). (d). (a). (b) &Fifl

Options:

61547534073, 1
61547534074 2
61547534075 2
E15475324076. 4

Question Number : 145 Question Id : 6154758740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
2 ME&EIHMI2 ): 2 uEs  (PTCaThm&ED QsmbleomeTiseT QUEBHLD LIMIG
cUE & E edTmenTI .
SHITIEN0TLD (&IT) : QG MAleITET T & 6T @ eueumailiq smiLn 2 GUEHLD
(LDEOT BT MMLD ZY6mL_LLLD.
@) eummier

(1) (2) &7, (&m) &1l
2  (2) sam, (&) &
(3 (2 &0l (BB
4  (2)Bu0m, (&HIT) Heum

Options:

B1547534077. 1
61547534078, 2



B1547534073. 3
61547534080, 4

Sub-Section Number: 3
Sub-Section Id: 615475381
Question Shuffling Allowed : Yes

Question Id : 6154758741 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



Srrell Qumflsatiey Wyraas ey, gaanu Qumrplsamer's CuaGeaum
@ndlureilen  Cspdlan  Qommsuda e UuGHUQIL  mGar
eumpdlamment. &ECEMS sNHS curamHerpujeLw Glmfaerrear S,
EOWTATD, &etantd, QsikiE <wdHwu Gwmlsmert CuaCeur
sLpsmIl  UGHsaflaud o dprl(l  uGdsellgid eumrpdlemmant.
QeupenpliCure @easdlws Qebewwnrs Wy SHyred Cwmfismart
CuaGaurt ugiFflavgmer 5L, el @pHureln@h sé&aramsHn@n
Qe iul L uEd, Csearamger wenOLLGHSET WPseSlw 2 wiFmer
GpCosemsaiies eumpeug GHUALSsE55. sOLALMEY  @eepuw
sOPETH WwrblegHed, weaawrerd Gsyar wrhlwsHed, SeanerLLd
ot wiiesfen,  Gsgme  wpdrn  GrGssEdgid
Gualiu@demper. @wbwrilomsdr GCsmb eamal U@GSsala @
Qumplseamaenyd waseT Cuadlament. slpssdan cuLsdle CFimiE
Qumd Cusbd ugd odreng. Copdle sSamaTL(pd W TETPLD
Gueliu@®b uGHsar odenar.  wRsEET UGESHWIL  FiEEE WM
Cualinpdngl. G Fais wasafler smi Cwmlur@n. @UuEs aws
wrflosmss Campsast@n. uLst, Carlim Cargr (pgedlw Gwmbser
Boodlflde Cusliu®damer. Gs@iiEg Qumf Cusiu®b uGH @
upsdler eflwr Qumf Cusliu®b u@gdHawwb wHLPsHa wrTsH
Gmd Gusiu®b u@dowwybd Qzrhdng. Gsrearg6lomfl g
g Quwmfwrg. warpds goCeaaiuild o drer Ll g,
Qamewrr  Qumpser GCuaiul hdlamear. GCamomd Gomd gl
YpCsessdlad  emangrrurgdennd  Cusiu®dpg. urigd  BHE
<jamaL dwrurs ellethigdlamgl. saar Quomg Cusiu@n UGS
wrrgd, Camhisenfl, Cseubie, sWOp wHwu Qomisear CuaILIHLD
u@dsmers Qerhdng. Caramg Gwmd Cusiu@b LGS CsaibiE,
Caremdl, wewrLm, wrmsdl wsedlw Gurhsdar CusiuBn uGHs G
2imdled o drergl. Fmbsrsdyred Guomfamar’ GuaGeaurtyeembd
wenall LGHsaflCaGw aumpaigl pwé@ edwlndamaen Sjeflsdng. sgu,
GMHé g @Crrer sl dwmismear’ CuaGeurt CarlLrprsyfl
SLyudle  oatetent.  wrGLT  grwatdler  CuEILGHEDF.
QuuedsE mda e r GQurisdar Cusiu@deamer. GCoHEL
undlevgmraflen wanell LiGdsailen 1Wrmenul Gwmd Cusiu®Spg).

@pdwreler gnéGopw Gorsshd LsHECETY wbSET  Frmell
Qumpsemerts Cuadlampenr. rmalGomgl Cuaiu®ib ugiflev greamd
@pdureing CeuallCu 2 drarg. @pSw wasar Cgrasamw WL (HLD
FHsHDQasTam® urigsme Hrmedl Cwmflsmer’ CuaGeurflen Csrens
<fe Qousts ®h ssdldlshd G CAsaaflbduremeul
Qumpgsoliged  Bls  CueburGort  Hrredl.  Qumfsemer
Cuadlement.

sWpQAomy CusCeurt @BSHwumelng Geuaflulgd eumpdlenment.
Qammsular  wasaAgrasude sllp CusCeurfler aameanilsEams
@Qmusamgig Fselfsd YGw. wCaflwrelgid Hrisliyfebd
wami@wmf, fm Quord gfHuecpprear s8p Gombub psHu
Qumiwrs elamigdleang. GCunCs Qgaamridflssmeian &psts
1969 Seysefigud Gn Seyseaflgud BT G Cwd o erarart. Hymadl
Qumfsaflen cramenilEamaamuun euheamll CusGeurtler CgTensu|d
&S Gl & e (h CrnéEeansulley glymrell_Qwmg <L TmLES]
p&EwSgIeuD QUmEnS).



Sub questions

Question Number : 146 Question Id : 6154758742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Gamedl Gompl Gua LMD LGS SEREE el Glwmdlums elfleTsiELh
Glomdl 6Tg)?

(1) LT m&slil (2) Ga&miLm
(3) umjl (4) Q&ITesoTLIT
Options:

61547534051, 1
61547534082, 2
E1547534083. 3
E15475340854. 4

Question Number : 147 Question Id : 6154758743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SO QUM CUECaUMT euUIM(LLLD G LIS
(a) @6V MmIem S
(b)  GQ&etTeoTTLI & &HIT
()  UsuFFerusTeT
@ U2 Gey
(1) (a). (0). (c) &0
(2) (a). (b). (d) &ifl
(3) (b). (c). (d) &ifl

(4) (a). (). (d) &

Options:

61547534085, 1
61547534086, 2
61547534087, 2
615475240388, 4

Question Number : 148 Question Id : 6154758744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



QUMBEESE : @LMmSEHNn CUsFILGLLD Quomdlumn

(a) eMaMSITUTS 1O GosmiLm
(b) E=al&H (i) ZlED

(¢) LOMIGFHesHIT (1) Comeuldl
(d) beo&Eir] iv) GLG

@eummieT sFiflmenTsl 6Tl ?

(1) (a)-(11), (b)-(v). (¢)-(iil). (d)-(1) &
@) (@-1). (b)-@). (©)-(iv). (d)-(ii1) &ifl
(3) (a)-(iil ). (b)-(w). (¢)-(1). (d)-(11) &1f]
(4)  (2)-1iD). (b)-(v). (0)-(i). (d)-(1) &

Options:

61547534089,
61547534090,
61547534091,
£1547534092,

[ Y

Question Number : 149 Question Id : 6154758745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BITOLRSSIS :

Camevorig GQomdl CuFLILGILD @LESNE mEausTer Qumblsear
(a) CHaumG

(b) (LOGDOT LT

(c)  Gameuldl

(d) WOTTSE)

@eummieT FfllmeTsl 6Tl ?
(1) (&) (@) .(d). (b) &Fifl
(2)  (e) (b). (a). (d) &Ifl
(3) (b). (c). (a). (d) &If]
(4) (a). (c). (b). (d) &FIf]

Options:
61547534093, 1
61547534094 2

£1547534085 3



E1547534036. 4

Question Number : 150 Question Id : 6154758746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 MFHEDHO (2):

SHITTEU0TLD (&HIT)

Qaarantib@lLMmailley SmBHTE Somall  QuomdlsanerL

G CeumGlTeu6VITLD LOEmEVLL L& E serlCeu G
GUITLD R 60T M 60T

SO0 &S HET el (B LOLLD o GuoTe) GUET) B FHETT
FLoGlsuerflaerfley EemL LILIS6uem6v. @) 6um mieT

Frilwumersl e11?

@ eummisT &FiflmenTal 61wl 7

(L (2) &, (&M &1

(2)  (2) seumy, (&) &ifl

3) (=) &0l (BMSaum

(4)  (2)sauml, (&) Heum
Options:

E1547534087. 1
515475340398, 2
515475340845 3
61547534100, 4

Question Id : 6154758741 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (146 to 150)
Cuestion Label @ Comprehension



Srrell Qumflsatiey Wyraas ey, gaanu Qumrplsamer's CuaGeaum
@ndlureilen  Cspdlan  Qommsuda e UuGHUQIL  mGar
eumpdlamment. &ECEMS sNHS curamHerpujeLw Glmfaerrear S,
EOWTATD, &etantd, QsikiE <wdHwu Gwmlsmert CuaCeur
sLpsmIl  UGHsaflaud o dprl(l  uGdsellgid eumrpdlemmant.
QeupenpliCure @easdlws Qebewwnrs Wy SHyred Cwmfismart
CuaGaurt ugiFflavgmer 5L, el @pHureln@h sé&aramsHn@n
Qe iul L uEd, Csearamger wenOLLGHSET WPseSlw 2 wiFmer
GpCosemsaiies eumpeug GHUALSsE55. sOLALMEY  @eepuw
sOPETH WwrblegHed, weaawrerd Gsyar wrhlwsHed, SeanerLLd
ot wiiesfen,  Gsgme  wpdrn  GrGssEdgid
Gualiu@demper. @wbwrilomsdr GCsmb eamal U@GSsala @
Qumplseamaenyd waseT Cuadlament. slpssdan cuLsdle CFimiE
Qumd Cusbd ugd odreng. Copdle sSamaTL(pd W TETPLD
Gueliu@®b uGHsar odenar.  wRsEET UGESHWIL  FiEEE WM
Cualinpdngl. G Fais wasafler smi Cwmlur@n. @UuEs aws
wrflosmss Campsast@n. uLst, Carlim Cargr (pgedlw Gwmbser
Boodlflde Cusliu®damer. Gs@iiEg Qumf Cusiu®b uGH @
upsdler eflwr Qumf Cusliu®b u@gdHawwb wHLPsHa wrTsH
Gmd Gusiu®b u@dowwybd Qzrhdng. Gsrearg6lomfl g
g Quwmfwrg. warpds goCeaaiuild o drer Ll g,
Qamewrr  Qumpser GCuaiul hdlamear. GCamomd Gomd gl
YpCsessdlad  emangrrurgdennd  Cusiu®dpg. urigd  BHE
<jamaL dwrurs ellethigdlamgl. saar Quomg Cusiu@n UGS
wrrgd, Camhisenfl, Cseubie, sWOp wHwu Qomisear CuaILIHLD
u@dsmers Qerhdng. Caramg Gwmd Cusiu@b LGS CsaibiE,
Caremdl, wewrLm, wrmsdl wsedlw Gurhsdar CusiuBn uGHs G
2imdled o drergl. Fmbsrsdyred Guomfamar’ GuaGeaurtyeembd
wenall LGHsaflCaGw aumpaigl pwé@ edwlndamaen Sjeflsdng. sgu,
GMHé g @Crrer sl dwmismear’ CuaGeurt CarlLrprsyfl
SLyudle  oatetent.  wrGLT  grwatdler  CuEILGHEDF.
QuuedsE mda e r GQurisdar Cusiu@deamer. GCoHEL
undlevgmraflen wanell LiGdsailen 1Wrmenul Gwmd Cusiu®Spg).

@pdwreler gnéGopw Gorsshd LsHECETY wbSET  Frmell
Qumpsemerts Cuadlampenr. rmalGomgl Cuaiu®ib ugiflev greamd
@pdureing CeuallCu 2 drarg. @pSw wasar Cgrasamw WL (HLD
FHsHDQasTam® urigsme Hrmedl Cwmflsmer’ CuaGeurflen Csrens
<fe Qousts ®h ssdldlshd G CAsaaflbduremeul
Qumpgsoliged  Bls  CueburGort  Hrredl.  Qumfsemer
Cuadlement.

sWpQAomy CusCeurt @BSHwumelng Geuaflulgd eumpdlenment.
Qammsular  wasaAgrasude sllp CusCeurfler aameanilsEams
@Qmusamgig Fselfsd YGw. wCaflwrelgid Hrisliyfebd
wami@wmf, fm Quord gfHuecpprear s8p Gombub psHu
Qumiwrs elamigdleang. GCunCs Qgaamridflssmeian &psts
1969 Seysefigud Gn Seyseaflgud BT G Cwd o erarart. Hymadl
Qumfsaflen cramenilEamaamuun euheamll CusGeurtler CgTensu|d
&S Gl & e (h CrnéEeansulley glymrell_Qwmg <L TmLES]
p&EwSgIeuD QUmEnS).



Sub questions

Question Number : 146 Question Id : 6154758742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Gamedl Gompl Gua LMD LGS SEREE el Glwmdlums elfleTsiELh
Glomdl 6Tg)?

(1) LT m&slil (2) Ga&miLm
(3) umjl (4) Q&ITesoTLIT
Options:

61547534051, 1
61547534082, 2
E1547534083. 3
E15475340854. 4

Question Number : 147 Question Id : 6154758743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SO QUM CUECaUMT euUIM(LLLD G LIS
(a) @6V MmIem S
(b)  GQ&etTeoTTLI & &HIT
()  UsuFFerusTeT
@ U2 Gey
(1) (a). (0). (c) &0
(2) (a). (b). (d) &ifl
(3) (b). (c). (d) &ifl

(4) (a). (). (d) &

Options:

61547534085, 1
61547534086, 2
61547534087, 2
615475240388, 4

Question Number : 148 Question Id : 6154758744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



QUMBEESE : @LMmSEHNn CUsFILGLLD Quomdlumn

(a) eMaMSITUTS 1O GosmiLm
(b) E=al&H (i) ZlED

(¢) LOMIGFHesHIT (1) Comeuldl
(d) beo&Eir] iv) GLG

@eummieT sFiflmenTsl 6Tl ?

(1) (a)-(11), (b)-(v). (¢)-(iil). (d)-(1) &
@) (@-1). (b)-@). (©)-(iv). (d)-(ii1) &ifl
(3) (a)-(iil ). (b)-(w). (¢)-(1). (d)-(11) &1f]
(4)  (2)-1iD). (b)-(v). (0)-(i). (d)-(1) &

Options:

61547534089,
61547534090,
61547534091,
£1547534092,

[ Y

Question Number : 149 Question Id : 6154758745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BITOLRSSIS :

Camevorig GQomdl CuFLILGILD @LESNE mEausTer Qumblsear
(a) CHaumG

(b) (LOGDOT LT

(c)  Gameuldl

(d) WOTTSE)

@eummieT FfllmeTsl 6Tl ?
(1) (&) (@) .(d). (b) &Fifl
(2)  (e) (b). (a). (d) &Ifl
(3) (b). (c). (a). (d) &If]
(4) (a). (c). (b). (d) &FIf]

Options:
61547534093, 1
61547534094 2

£1547534085 3



E1547534036. 4

Question Number : 150 Question Id : 6154758746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 MFlGEeamHm (2): CsaralbElwumailsy Smbsrs Somall Quomdlsanerl

G CeumGlTeu6VITLD LOEmEVLL L& E serlCeu G
GUITLD R 60T M 60T

STTeuoTLD (HIT) SO0 &S HET el (B LOLLD o GuoTe) GUET) B FHETT
FLoGlsuerflaerfley EemL LILIS6uem6v. @) 6um mieT

Frilwumersl e11?

@ eummisT &FiflmenTal 61wl 7
1 (2) &l (&) &1

(2)  (2) Beumy, (&) &if]
3)  (2) &, (BMSeum

(4) (2_)&Heuml, (&IT) &HeuUoy

Options:

61547534097, 1
61547534098, 2
61547534099 =
61547534100 4



